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33100000 pd2ljulwis uwppbpunnpnidbp, qnpéhpibip b wywpwquibibp 33100100.0
32351230/507 nbuwnghl Ulwpltinh dwwwybuuGn G< hwwn 100 0.0
32351230/507 nbLinglit uywpubph dwwwyblubn QL hwwn 280.00 100 28.0
32351230/508 nbuwngtt uljwnpubiph dwuywytuubp q< hwn 500.00 100 50.0
32351230/509 nbungbu Uwpubiph dwwwytuubn QL hwwn 350 0.0
_2351230{509 nbuwngbl Uwnpubiph dwuwykuubip 9L hwn 260.00 250 65.0
32351230/510 |  nbuinght ulwnliaph dwwwyblun a< huwtn 100 0.0
32351230/510 nblUngbu uwpubipp dwuywybuubp G hwn 420.00 100 42.0
32351230/511 nbungb bjwptbph dwwwtuubp AL hwn 4,000 0.0
32351230/512 nblunghit ujwpubiph dwwywytuubp G hwwn 2,500 0.0
32351230/513 nbuwngbt ulwptbiph dwuywlbuubp a< hwin 300 0.0
32351230/513 nbungbl ulywnpubph dwwwybuutp QL hwn 1,360.00 200 272.0
33111200/501 shpuinypjwu gpwitgdwl uwnpbin qL hwwn 700 0.0
33111200/501 gbipdnipWU gnuugdwl uwnpan Q< huin 450.00 500 225.0
33121180/502 R SRR SRS A 9 hwin 1,600.00 50 80.0
(tnnundbwnn)
33121180/503 iyt St suthdul uuipg ac huitn 1,600.00 50 80.0
(wnundbiwnp)
JEGuigjw ogunwgnpdiwl g
33141100/512 phipwywl pdaywlwt — oL hwtn 110.000 0.0
hbdwwnnnahwbiwl wwnwawbbn
dEqwugudjw ognwagnpodwl ns
33141100/512 phihwluiu pdyulwu — qc hwtn 416 40,000 166.4
hbdwnninghwbwl wwnwauwlbn
dtGwlgwdjw ogquntugnpdlwl ny
33141100/513 phuhwlw pdalulut - QL hwtn 13.00 20,000 260.0
hbdwinninghwliwl wiinwawubn
dGhwhqudjw ogungnpodwu ny
33141100/514 phupwlyuwl pdalwljul - qc hwn 1,000 0.0
hbdwwnninghwlwy wwnwauwlbn
dahwlgwdjw ogunwanpoduii ng
33141100/515 phipwlut pdayulwt — Qg hwtn 7,300 0.0
hodwinninghwbwl wwnwawbn
JEGwlquidjw ogunwannoduwl n
33141100/515 phuhwywu pdayulw - QL hwtn 412.00 1,000 412.0
hdwnninghwliwy wwnwawuin
dGhwlgqudjw ogqunugnnddwl ng
33141100/516 phuhwlul pdaYulw ~ a< huwtn 3,300 0.0
hdwinninghuwbwl wwnwawlbn
Utywlguwdjw ogunwgnnddwl ng
33141100/516 phuhwlwl pdaYwlwu — Q< hwn 412.00 5,000 2060.0
hdwnninghwliwy wwnwawubn
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T TEGWUGWjW ogungnpddwl ng
33141100/517 phihwlywl pdayulw — 9< huan 1,000 0.0
hdwwnninghwlwl wwnwawuGn
0Gywugwdjw ognwgnpodwl ng
33141100/517 phuhuwlwit pdolwlut - Q< hwwn 141.43 6,000 848.6
htdwwnninghwliwl wwnwawubn
33141111/505 Lusnit uwnwupubp 9L hwwn 280.00 5,500 1540.0
33141114/504 L= i 9< dbunp 35,000 0.0
jwiunieniun’ 90ud
95.22 70,000 6665.4
33141115/502 pd24wlwl puwdpwly a< huwiwn 3,000 0.0
33141115/502 pdolwlwu pudpwly q< hwn 160.00 1,000 160.0
3314n30/s01 | S wwihdh h‘t’jf‘“” AR N ] g husn 40,00 7,000 280.0
33141131/503 U g kg, A et a< huwtn 130 0.0
L
33141131/504 o ¥ ol il Q< hwwn 310 0.0
33141131/504 Ll g b AT, 9< huwin 100.00 100 10.0
wdpwlutpny (danun)
33141136/507 YwppGwnbpubp Q<L hwwn 100 0.0
33141136/507 Yuwpbnkpubp o< hwwn 220.00 400 88.0
33141136/508 Ywpbwnbpukp Q< hwin 220.00 1,000 220.0
33141136/509 yupbnbputn qc huwtn 120 0.0
33141136/509 Yupbwntpubp G hwwn 8,125.00 200 1625.0
33141136/510 Ywpbwnbpubp qL hwtn 1,000 0.0
33141136/511 Ywpbwnbputp acg hwn 1,000 0.0
33141136/512 Lwpbwnbnputin gL hwwn 200 0.0
33141136/512 Ywpbnbpubp < hwtn 65.00 800 52.0
33141136/513 Yuwpbwnbtpubp QL huwtn 200 0.0
33141136/513 Juptwnbpubn < huwn 65.00 800 52.0
33141138/501 Y 9< huwwn 1,000 0.0
33141138/501 uitijnyw QL hwn 110.00 3,000 330.0
33141142/508 utpwplhsubp 9L hwin 800 0.0
33141142/508 ubpwpyhgutin < huwtn 19.50 200 39
33141142/509 ubnwplhsubp 9< huwtn 16.80 50,000 840.0
33141142/510 ubpwnyhsubp a< hwitn 25.00 60,000 1500.0
33141142/51 ubpwplhsutip L hwn 11.66 45,000 524.7
33141142/512 usnwnyhsutin qc huin 11.00 90,000 990.0
33141142/513 ubnwnlhsttn ac bt 3,000 0.0
33141142/513 ubpwpyhsubp q< hwn 81.00 2,000 162.0
33141142/520 ubpwpyhsutip q< hwn 1,000 0.0
33141142/520 ubnwnlhsutip q< huwitn 65.00 1,000 65.0
33141144/517 pdolwlwl wutinulp G hwwn 9,000 0.0
33141144/517 ndpywljwl wubinup ac huwin 10.00 12,000 120.0
33141144/518 pdolwyw wubnubn q< hwn 6.00 1,000 6.0
33141144/519 pdalwywl wutinubp G hwun 550 0.0
33141144/519 nd7lulwl wubnubp 9< hwtn 8,100.00 100 810.0
33141144/520 pdzlwlwl wubkinubn 9 hwn 20 0.0
33141144/520 pdoluwlywl wubnutp ac huwtn 5,000.00 80 400.0
33141144/521 pdolwlwl wubnutp B hwin 20 0.0
33141144/521 ndolwlw wutinubp ac huwn 5,000.00 80 400.0
33141144/522 pdolywlwl wubinubp e hwn 20 0.0
33141144/522 pdolywlwl wubinubip q< hwwn 5,000.00 80 400.0
33141144/523 pd2bwywl wubknubp ac hwin 150 0.0
33141144/523 pdolwlwu wubinubp QL hwn 7,000.00 50 350.0
33141145/501 wlqqujwgiwl wubnubp QL huwun 850.00 150 127.5
33141145/502 wugqujwgiwl wubnubp q< hwtn 100 0.0
33141145/502 wggjwgdwl wubnuGn < huwn 850.00 50 42.5
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33141145/503 wilgqujwgiwu wubnutp Qe hwwn 150 0.0
33141158/501 Jhrwpnidwlul sknlngubp LY anuyg 450 0.0
33141158/501 Uppwpnidwwu dEnungubip QL qnyg 140.00 50 7
33141158/502 Jnpwpnidwywl sbnunglitip QL anyq 3,500 0.0
33141158/503 Jhpwpndwlwu &tinungubin Q<L qnyg 4,300 0.0
33141158/503 Yhpwpnidwlw dbnungubip Q< qnyg 115.00 3,000
33141158/504 Jppwpnidwlwl denungutip QL qnug 7,000 0.0
33141158/504 Uhpwpnidwlwu dknungutip QL qnyg 120.00 10,000 1200.0
33141158/505 Jhpwpnidwlwu dbnungutp QL anya 3,500 0.0
33141158/505 Uhpwpnidwlwl Gknungubin QL qnuyg 120.00 1,000 120.0
33141173/505 Jtigh nnwpwyubp L hwwn 94.99 9,000 854.9
33141182/510 Jhpwinhnnbip (npbuwdubn) QL hwtn 200 0.0
33141182/510 Yhpwthnnbp (npbuwdutin) Q< husn 1,200.00 600 720.0
33141182/511 Ynpwthnntp (npEuwdubip) Q< hwwn 100 0.0
33141182/51 dhpwihnnbip (npkuwdutp) S< huwin 1,200.00 400 480.0
33141182/512 Yppwipnnbip (npbuwdutin) Q<L hwwn 200 0.0
33141182/512 Jnpwthnnp (npblwdubn) QL hww 1,200.00 600 720.0
33141182/513 Uhpwihnntip (npblwdutin) Qe huwwn 100 0.0
33141182/514 Uhpwthnntip (npbuwdltp) a4 hwn 200 0.0
33141182/514 Yhpwthnnp (npuwdtn) q< hwwn 1,200.00 300 360.0
33141182/515 Jppwthnnbin (npbuwdubn) 9L hwwn 200 0.0
33141182/515 Uhpwihnnbp (nnbuwdut) a< huwin 1,200.00 300 360.0
33141182/516 Jhnuwthantip (npblwdutn) 9< hwn 200 0.0
33141182/516 dnnwthnntp (npbuwdutn) Q< hwwn 1,200.00 300 360.0
33141182/517 dhpwithnnbip (npbuwdubn) qL hwin 400 0.0
33141182/517 hnwthnnbp (npbuwdutn) q< hwin 3.000.00 100 300.0
33141182/518 yhnwihnntp (npbuwdubn) Q<L hwwn 400 0.0
33141182/518 UphpwihnnGn (npbuwdubn) QL huwn 3,000.00 100 300.0
33141182/519 dhpwithnntp (ppbuwdutn) Qg hwtn 30 0.0
33141182/519 dhnwihnntp (npbuwdubn) 3¢ huwin 4,500.00 20 90.0
33141182/520 Jhpwihnntip (npbuwdubn) QL huwwn 30 0.0
33141182/520 Uhpuginnan (pnbuwdutn) ac huwitn 4,500.00 70 315.0
33141182/521 Yhpwithnnbp (nplwdutin) QL hwtn 67,000.00 10 670.0
33141182/522 Uhpwipnnn (npbuwdubn) QL hwwn 20 0.0
33141183/506 qnuntp ac hwtn 150 0.0
33141183/506 qnuntn ac huwitn 95.00 400 38.0
33141183/507 gnunbp QL hwwn 50 0.0
33141183/507 gnuntin Qa hwn 95.00 100 9.5
33141183/508 qnunbp QL huwtn 150 0.0
33141183/508 gnunbip QL hwwn 95.00 400 38.0
33141211/515 PR AL AR NS 5< hwun 590.00 2,000 1180.0
wwnwawubn
33141211/516 Rt wit Gnpehglip = 9< huitn 390.00 500 195.0
wwnwawlbn
33141211/517 ozl sl GARSHRNED — ac hwin 500.00 500 250.0
wwnwgwubin
33141211/518 pAgijualpk wi| RRATRRTR — ac huwn 70 0.0
wwnwawubn
33141211/518 gl g GnABhgHTp = ac hwn | 4.700.00 30 141.0
wwipwawutp
33141211/519 POl wL annShpUSR = a< huwn 6,500 0.0
wuwinwauwutn
33141211/519 e Lt ol ac huwtn 110.00 3,000 330.0
wwipwauwubin
33141211/520 Pzl w| gaRShpLED = 9L hwtn 44.00 40,000 1760.0
wwnwawubn
33141211/521 A a¢ husn 200 0.0
wwnwawubn
33141211/522 PRI  CR a< huitn 1,500 0o |
wwnwigwiubin
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‘ 33141211/522 l POQUW WU wi| Gnneheubn - ] 9¢ \ P l 95.00 3.000 285.0

= m%nmuwbbn
78 33141211/523 pdauluil wj| gnndhpubn - l q< \ hwn ‘ 4,660.00 15 69.9
wwipwawubp
3 3 g
Jg| 3341211/524 RSN \ A< huwn ‘ 100 0.0 ‘
wwpwawutip =
d s
80| 33141211525 po2luwliwl wiL GnnehRULR qc¢ hun 30 0.0
wwnwawutn
5 u Shoutn —
[ 33141211/525 pd gl wjL gD q¢ hwn 15,200.00 10 152.0
wwpwawubn
F2hwlwl wi| gnpdnpubn -
33141211/526 Ro2
81 ; wwpguwubin a< hwn 2,000 0.0
] U =
33141211/526 pdZGwLL wyL gnndheUED ac b 170.00 3,000 510.0
5 wwpuguwutn
U ubip —
gy| 33412M/527 ROZulywl wyt annhputin qc huwn 5.000 0.0
wwnwawubn
3 U Shputn —
33141211/527 POZYuljwl wyL annehpun 9c s 33.00 5,000 165.0
wwpwawubn
U e —
g3 33141211/528 pOZhwlul wiL an3hpun ac hwitn 400 0.0 3
wwnwgwubp 2
7 U =
33141211/528 pdz4wlwl wj| gnpdhputn ac Gk 850.00 100 85.0 3
wwinwawubn :
ga| 33141211529 paalpolgut i ST = qc hun 100 0.0 3
wwpwawubn
3 B —
33141211/529 pIZUuwiluil wy| GrnohRULD ac it 25.000.00 | 100 2500.0
wwnwawbin
g5| 33141211530 pO2Uliwl wil gndheUS = 9c _— 5 0.0
wwpwawubn
33141211/530 poZuwlwil wii annShpltin = qc huwtn 23,500.00 5 17.5
wwnwawubp
G u g
gg| 33141211/531 el U ST EREAE a¢ bk | Zsepion] 10 230.0
wwpwawubin
U —
a7| 33141211/532 Pl wjL annShpusn Q¢ huwn 20 0.0
wwhwawubn
33141211/532 AUl wi gnnéhplitn = 9¢ - 73.333.30 10 233.3
wwpwawubn
gg| 331412111533 pOZLuljwl wil anndheubn = 9c huit 10 0.0 %
wwnwawutn b
33141211/533 pdzUwlyuil wi gnndhalitn = qc hun 93,500.00 20 470.0 =
wwnwawubn
go| 33141211/534 pdgluljul wiL annSPeLAP = ac hun 10 0.0
wwpwgwubn
33141211/534 pdZluwliwll wi GnnohRUEN = o< huwin 23.500.00 20 470.0
wwipwauwubn
h N
go| 33141211/535 Pl L grndhelen 9¢ b 10 0.0
wwinwawubn
b i
g1 33141211/536 pOZUWYWU wi grnéhpUSR ac hustn 10 0.0
wwpwgwubin
gp| 33141211/537 pdZluliwl wi gnndhRULN = ac hwtn 10 0.0
wwnwawubin
g3| 33141217/538 pd2uiljul wyL anndhpuEnN = ac hun 55.000.00 10 550.0
wwnwawubn
ga| 33141211/539 paZulul wi annShplitn = ac hustn 500 0.0
gmnmqwutﬁn
33141211/539 pOZ4uL wil annShRLED - 9¢ S 290.00 500 145.0
wwnwawubn &
o5 33141211/540 e ac hwn 70 0.0 :
wwnwawubn
33141211/540 pdgUuljwl wj gnndnpULR = ac hwtn 4.500.00 30 135.0
Wwpwawubn
33141211/541 pd2bwluil wyL npdhRUSN = 4 i 500 0.0
96 wwnwawubp
st || poZUuuwl wjL anpdheUEn = ac e 290.00 500 145.0
wwnwawubp
33141211/542 pOZGUUWY WL grnehputn - ac hwn 500 0.0
97 wpwawb
33141211/542 RIZUuwljwl wi gnndnRUEN - a¢ bl 290.00 500 145.0
wwnwawubn
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oL wj| gnpdhputip —
33141211/543 F n
98\; = wwnwawutin i hutn 600 0.0
33141211/543 s
: wwnwawlbn < hwn 550.00 400 220.0
doyuljwl wy gn Shputin -
33141211/544 po2 i qrpopglian
™ . wwpwawubn i huitn 100 0.0
33141211/544 POl wil Gnn3hpUED -
= wwnwawlbin < hwtn 4,500.00 100 450.0
33141211/545 Rzl wit GANSRUEN -
L ; Wwnwguwubn HE huin 100 0.0
33141211/545 pdalulwil wy| gnndhpuLN -
— wwpwgwubp e hwin 2,600.00 200 520.0
33141211/546 pdz4wljwl wy| gnpdhpUtn —
# - wwnwawlbin s huiin 30 0.0
33141211/546 Rd2Uuiljuil wjL gnpdhputn -
d wwipwawubn e huinsy 3,900.00 20 78.0
33141211/547 rdalwiliwl wji annéhpLbn =
i wwpwawlbp b buiin 30 0.0
33141211/547 RZGwlwl wj gnndhputin - o
T utuwnmo,uumm hwwn 3,900.00 40 156.0
33141211/548 pdaluwlwl wj| gnndhputin -
G 55 wwpwawibn e hwwn 30 0.0
33141211/548 P24l wy| gnpdhpuGn -
wupwawlbn G hwwn 3,900.00 70 273.0
dolwljwl w| gnpdhpubip —
33141211/549 po2 JL gnpohputip
i -~ wwpwgwubn i huwitn 120 0.0
33141211/549 pdolwluit wy gnpdhpubn -
wwnwawubin L hwwn 3,900.00 100 390.0
dowlwu wj| gnpdhputip -
33141211/550 Rd2 JL annohRUGn
e Wwpwgwubn i A 430 0.0
drlwlywiu wy gn Shpubip —
33141211/550 po2 j| gnpohputin
. wwnwawtn q< hwitn 2,500.00 600 1500.0
33141211/551 pdoluilwu wy| gndhputn -
it - wwpwawubn &< huwin 12 0.0
33141211/552 pd2Ywlwl wj gnpdhpubn =
## il qL hwitn 685.20 25 17
daywlwl wy gn dphputip —
33141211/553 Rz JEGRRBED
# T Luttlnwo,wbbn s s 10 0.0
33141211/553 pdalwilwl wj gnndhputin -
wwpwagwubn S hwtn 36,050.00 10 360.5
doyulwl wj| gnpdhputp —
33141211/554 P qrpoppuan
i wwpwawlbn e hun 30 0.0
doluljwt wy gnpdhplbip -
33141211/554 Ro2 |Lgnponpuun
wwpwawlbn 9E hun 65,000.00 20 1300.0
dalwlwu wy| gnpdhputin —
33141211/555 P L gnpShpubn
#H wiippsishn &L huwitn 1,200.00 35 42.0
pdaYwluw wj| gnpdhpubn =
m 33141211/556 o e qc hwuwn 1,080.00 20 21.6
112 3314121211155 pdoyuiljwi wy) Ujnyatin 9L hwn 4,950 0.0
33141212/1155 pdalywlwl wyg Unyebn G hwwn 98.50 10,050 989.9
##| 331412121156 pdolwlw wyy uynpbip aL huwwn 1,500 0.0
33141212/1156 pdalwlw wy Wmpbp < hwtn 145.00 4,000 580.0
##| 331412121157 pdoluiljuw wyp bjnuzlp 9L hwwn 100 0.0
#H#| 331412121158 pdoYuljuil wy) Ujnustip Q< hwtn 1,000 0.0
331412121158 pdalwiluil wy) WniRtn < huwin 39.50 4,000 158.0
##| 33141212/1159 pdolwlwl wy Uyniekip QL huwtn 1,500.00 10 15.0
117| 3314121211160 pdoluwljuit wy) UynypEn <L huwn 900 0.0
33141212/1160 pdaluiljut wy) Ujnyatn Q<L hwwn 2,900.00 300 870.0
##| 331412121161 pdzluwluwil wy| bynyatin §L hwun 3,780.00 100 378.0
##| 33141212/1162 pdolwlbw wy LinyEn G< hwwn 5,030 0.0
#H 33141212/1163 pdolywlul wy) unyptn q< hwtn 20 0.0
33141212/1163 pdpywlwy wy| Wnuatn ac hwn 8.400.00 100 840.0
121 33141212/1164 pdolwlwl wy) Wnyetn QL hwwn 10 0.0
33141212/1164 pdolwlwl wy Yynipbn S hwtn 6.000.00 5 30.0
## 331412121165 pdalulul wy Unuatip QL hwun 0.0

Crpanwua 5

&



H##
i
H#
##
##
##

Liid

17
18

19
20

33141212/1165 pdolwlwil wj) WnREN Qg hwwn 12,000.00 2 24.0
33141212/1166 pdolwyuwl wi unystp e hwuwn 100 0.0
331412121167 pdolwlw wy) ynielbn L hwwn 300 0.0
33141212/1168 pdolwywl W) uynipln q< huwwn 1 0.0
33141300/510 atinungubp pdawl ng unbphy QL. hwn 30,000 0.0
33141300/510 shinungubip pdalywit ng uwntinhy < hwwn 48.90 10,000 489.0
33141300/511 abnunguip pdalwl ng uintiph| Q< hwn 130,000 0.0
33141300/511 atnungubip pdaywl ng unbinhy 9L hwwn 49.00 50,000 2450.0
33141300/512 atinungubin pdaluit ng uwntiphy 9L hun 27,000 0.0
33141300/512 atntngubn pdalwl ng unbiphy qc huwin 48.90 10,000 489.0
33141300/513 abnunguiip pdayuwil ng unbiphy qL hwwn 3,000 0.0
33141300/513 aknungubip pdolw ng unbiphy < hwwn 54.00 27,000 1458.0
33151220/501 plRUWALWRU nhuwy ac hwn 2,000 0.0
33171200/502 wlqquiwguwl nhdwy 9< huwtn 300 0.0
33171200/502 wilggwjwguwu nhdwy < hwn 1,200.00 200 240.0
33191260/501 wpjwl tinfutipwpydwl gunwinpyubp B hwn 18,000.00 60 1080.0
33191490/501 ubipwpyuwu wndwbip S hwn 10 0.0
33711490/502 wwhuwbwlubp < hwin 1,500 0.0
33141111/506 Yuygniu uwbinwputp q< hwwn 154.00 5,500 847.0
33141136/531 Ywpbintpubp Se hwtn 50 0.0
33141136/531 Ywpbntputp qc huwtn 175.00 300 52.5
33141211/561 pdlwlwu wy gnndheltn - 9L huitn § 0.0
d uwutfuhﬁnwuﬁcﬁ‘hn%r;mbn =
33141211/561 e e < huwun s 3 865.0
33141211/557 Rl wyL grnéhpuEn = ac huwin 30 0.0
wwnwawutin
33141211/657 Tl L RSP = % huitn 9,000.00 30 270.0
wwnwgwubin
Juswinnipjwl gniguuwnpbin
33191560/501 | (suswnnipwu twindwdp hulynnnuzntu qc hwitn 600 0.0
hnwlwiwgtting hwdwn)
Juswnnupjwu gniguuwpabn
33191560/501 | (suswnnizjwl ywindwdp huynnnignLu QL hwun 3,000.00 400 1200.0
hnwliwbwalting hudwn)
33141136/532 Yuptntputin Q< huwun 100 0.0
33141136/532 Luwpbtnkpubp ac hwn 225.00 100 225
33171400/502 yEpwlblnwuwgdwl nhdwy 9L huwtn 10 0.0
33171400/502 YEpwyBtnwUwguwl nhiwl q<C huwitn 5,490.00 10 54.9
33141182/524 Jhpwihnntip (npEuwdutn) QL hwwn 100 0.0
33141182/524 Jppwihnntip (npbuwdutin) QL hwtn 3,000.00 100 300.0
33141211/564 L o< hutn 830.00 150 1245
Wwpwgwubp
33141212/1170 pdolywlwt wy Unyplp e hwtn 1,320.00 300 396.0
33141157/510 Upinwipliip — uwjpbip a<L hwwn 300 0.0
33141157/510 Uginwpp — uwjpkip <L hwwn 14.00 700 9.8
33141136/542 Ywpbnbpubp qc hun 374.00 50 18.7
33141136/536 Lwpbwnbpubp G< hwuwn 54.90 1,500 82.4
33141212/1169 pdoluilwt Wy Unuyean G, hwwn 300 0.0
33141182/523 dhpwihnntip (nnbUwdubn) S hwn 50 0.0
33141182/523 ynpwipnntp (npabwdutn) Qs hwin 3,000.00 50 150.0
33141136/535 Lwpbwnbnubp & hwwn 65.00 600 39.0
33161120/502 Jhpwpnidwlwu gnpdhpubin Q< hwin 3,200.00 13 41.6
33141136/540 LwpbnkpuGn 9< huwtn 100 0.0
33141136/540 JwRbntnubp a< huwwn 374.00 100 37.4
33141211/565 Pzl wji ganShelian - 9c hwun | 125,000.00 2 250.0
wwpwguubp
33151220/502 preUwdUwhl nhuwy a< hwwn 700.00 500 350.0
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Tuntwugdws predwdu
Jwwnwlwpwpdwl uwppbn, npnl
33151270/503 uhnmr:{m o ;araq[fanwmpn e 9 huwin 20 0.0
phnwwhunnif
funtwlwgyuo prywdtf
Jwinwlwpwpdwl uwppbp, npnu
33151270/503 ok qu:j e @N'fagwml P ac huwitn 8,000.00 30 240.0
mhnunuhunnyd
33141211/560 g g AR PP ac hwn | 3,000.00 20 60.0
wwnwawubn
TEjwlgwdjw oguwgnnpddwl ng
33141100/518 phihwlwl pdalwluwu - Q< hwun 3,000 0.0
hiJwinninghwwy wwnwawlbn
dGGwugwdjw ogunwgnpodwl ng
33141100/518 phihwlwt pdoluluwl — 8 hwin 30.00 1,000 30.0
htdwnnnghwliwl wwnwawibn
33141211/563 POQLMRS all s — a< b 50 0.0
wwnwawubin
33141211/563 e e 9c huwun 1,000.00 100 100.0
wwnwawibn
33141157/509 Uptnwiplip — uwypbp S L4 hwin 18.99 50 )
33141136/514 wrbwnbpubn QL hwwn 500 0.0
33141136/514 Ywpbnbpubp aL hwwn 175.00 1,500 262.5
33141212171 pdolwlwl wj| ujnyelin < hwn 40 0.0
33141136/534 YwpGwhpUGN 9c huwn 300 0.0
33141110/502 Yhpwlwwtip q< hwtn 50 0.0
33141212/1173 pdawywt wy| unibp 9L hwn 2,000 0.0
33141111/507 Yuygntu uwbnwithutip q< hwn 2,000 0.0
33141136/533 Ywpetinbpubp S hwn 300 0.0
33141136/533 Yuwpbnbputn q< huwtn 175.00 700 122.5
33141157/507 ugunwipubp — uwjpbp 9L hwn 500 0.0
33141157/507 Uptnwiplibp — uwjpbip ac huwtn 14.00 2,000 28.0
33141110/503 Uhpwiuiwtn QL hutn 50 0.0
33141212/1172 pdalwlwl w) ujnibp S hwuwn 2,000 0.0
33161120/503 Uhpwpmdwlwl gnpdhpubip 9L hwtn 2,200.00 10 22.0
33161120/501 Uhpwpnidwlwl gnpdhputin Qac huin 3,200.00 8 256
33141211/558 POl wil anndhpUEn - %< hun 50 0.0
wwinwauwubin
33141212/1174 pdalyuilwi wyy UnwRbp 9L hwn 2,700 0.0
33141136/538 Yuwpbinbnputp ac huwin 54.90 23,000 1262.7
wnjwl Gupdwl guthdwl uwng
33121180/504 QL hwwn 100 0.0
(innundbwnn)
33141136/539 YwpGwnbpubp G hwitn 54.90 7,600 417.2
33141157/506 Uptnwiplian — uwjpbin q< hwwn 300 0.0
33141157/506 Uywnwplip — uwpbip q< hwin 14.00 700 9.8
funtwgugqud prywslh
Juinwlwpwpdw uwnptp, npnup
33151270/502 U punynud B pUwBLWL 9L huwn 20,000.00 20 400.0
mhnuhiinud
33141157/508 Uptnwpubp — uwjnkp Q<L hwn 2,000 0.0
33141157/508 upwnwpubip — uwyplp 9L hwwn 18.99 1,000 19.0
33141136/541 Ywpbwnbpubp G huwin 300 0.0
33141136/541 Ywrebnbputp 3 huwn 374.00 200 74.8
33171400/501 dbpwlEunuiiwgdul nhdwy Q<L hwwn 5,490.00 5 215
33141211/566 i a< huatn 200 0.0
wwnwawutn
33141211/566 g | PO 3¢ huwtn 835.00 500 417.5
wwnwawllbip
33141136/537 wpebwnbpubp qc hwn 54.90 23,000 1262.7
33141157/513 uptnwipuln — uwjpbn &< hwwn 1,500 0.0
33141157/513 Upunwipubp — uwjpbip QL huwn 14.00 3,500 49.0
33141129/511 nndul qc huin 80,000 00 |
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[ 331411295511 nhdwy ¢ | hun 14.90 20,000 2080 |
33141211/559 RdzUwlpl wyt annéheltin = 9< ‘ huwwn 4,500.00 10 45.0 J
wwnwigwun
33141110/504 Uppwlwuwtn Q< hwtn 100 0.0
33141120/501 utnupsutp ac huwin 10 0.0
33141121/549 dhpwpnidwlwl RGN Q< hwwn 300 0.0
33141121/550 Yhpwpnidwlu RGN &L hwiwn 420 0.0
33141121/550 dhpwpndwlwl phbp QL hwn 2500 420 1050.0
33141121/551 Ynpwpmdwlwu RGN §C hwwn 1,000 0.0
33141121/552 Jhpwpnudulwl phbp QL hwn 900 0.0
33141121/553 Uhpwpnidwywl EEp Q< huwwn 6,250 0.0
33141121/553 Uhpwpndwlwu phitp Q< hwwn 975.57 5,000 4877.9
33141121/554 Unpwpnidwywu phbp QL hwwn 20 0.0
33141121/554 Uhpwipnidwlwl pbitp ac huwin 6200 30 186.0
33141121/556 Jhpwpnurwlwu phitn 9L hwuwn 40 0.0
33141121/556 Jhpwpnidwlwl phEp QL hwin 6200 40 248.0
33141121/657 Jhpwpmdwlwu phEp 9L hwn 40 0.0
33141121/557 Ynpwpndwlul pbiap < hwtn 6200 40 248.0
33141121/558 Uhpwpnidwlwl phbp GL huwtn 24 0.0
33141121/559 yYhpwpnidwlw phiap QL hwn 24 0.0
33141121/560 Jhpwpnidwywu ghien 9L hwin 24 0.0
33141121/561 Uhnpwpnidwlwt phltn Q< hwin 688 75 51.6
33141121/562 Jhpwpnidwlwu @GN q< hwin 640 150 96.0
33141121/563 Jppwpnidwluu phibp QL hwin 300 75 225
33141121/564 Uhpwpnidwywu @EG Q< hwuwn 565 0.0
33141121/564 Jhpwpnidwlwl phER Q<L hwn 756.756 360 2724
33141121/565 Jhpwpniduwl phtn L huwiwn 490 0.0
33141121/565 Uhpwpnidwlwl paiE a< huwin 904.7 360 325.7
33141121/566 Yhpwpnidwlwl oG q< hwuwn 205 0.0
33141121/566 Uppwpndwlwl phiGn S< hwn 627.7 120 753
33141121/567 Yhpwpnidwlwl phibn L hwwn 250 0.0
33141121/567 Yhpwpnidwlwl ek S hwtn 552 250 138.0
33141121/568 Ynpwpnudwluw ebibp aL hwwn 325 0.0
33141121/568 Uhpwpnidwlwu RGN Q<L huwtn 1210.43 250 302.6
33141121/569 Jppwpndwlwl phitp q< huwn 200 0.0
565 200 111.0
33141121/570 yhpwpnidwlwl phitp q< huwin 25 0.0
33141121/571 dnpwpnidwljwl pEGN G< hwuwn 100 0.0
33141121/571 dhpwpnuduljwl ok qC hwn 660 100 66.0
33141121/572 Uppwpnidwlwl pbitn S hwwn 50 0.0
33141121/572 Uhpwpndwljwl pGiGn 9L hwtn 840 50 42.0
33141121/573 Unpwpnidwlwl pHGE G hwwn 12 0.0
33141121/573 Uhpwpndwljwu phlEp q< hwtn 5041.6 12 60.5
33141121/574 Uhpwpnidwlwl rbip QL hwwn 125 0.0
33141121/574 Uhnwpnidwluwl bGP qc huwn 1500 125 187.5
33141121/575 Yhpwpnidwlwl phbn QC hwwn 225 0.0
33141121/575 Yppwpnidwlwl pbiEn QL hwtn 2500 225 562.5
33141121/576 Jppwpnidwywl rhilip S hwwn 1,100 0.0
33141121/577 Yhpwpnidwlwl pE(ED &< hwwn 200 0.0
33141121/578 Yhpwpnidwlwl gt QL hwwn 2,100 0.0
33141121/578 phpwpnidwlwy phiGn qL huwin 1300 2,100 2730.0
33141121/579 npwpndwluw bk QL hwtn 250 0.0
33141121/579 Jppwpnidwlwl rblEN q< hwn 1200 250 300.0
33141121/580 Jhpwpnidwlul RGIED g hwwn 3,950 0.0
33141121/580 Yppwpnidwlwu phiEp Q< hwtn 1400 3,600 5040.0
[ 33141121/581 Unpwpnidwlwy phyap o< huwin 100 0.0
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33141121/581 Yhpwpnidwlul el ac hwtn 2500 100 250.04‘
33141121/582 Jhpwpnudwlwl phbn 9L huwin 420 0.0
33141121/582 Unpwpnidwlw phEn qc hwwn 15000 480 7200.0
33141121/583 Yhpwpnmdwywl pEEp qc hwin 250 0.0
33141121/583 dhpwpnidwlwl phjD 9< hwn 350 250 875 |
33141121/584 dppwpnidwlwl pbtn QL hwuwn 1,800 0.0
33141121/585 Unpwpnidwlwl pbitn qc hwwn 150 0.0
33141121/586 Uppwpnidwljwl plitn QL hwwn 1,600 0.0
33141121/587 Jhpwpndwlywl phEn q<L hwwn 2,700 0.0
33141121/590 Yphpwpnidwywl phibtn QL huwin 50 0.0
33141121/590 Yhpwpnidwlwl pbiGn aL huwwn 6200 80 496.0
33141121/591 Jnpwpnidwywl phbn QL huwin 150 0.0
33141121/591 Jhpupnidwlu pbitn 9 hwn 2100 150 315.0
33141122/501 Jppwpnidw il Yuphsutn qL hwtn 3 0.0
33141122/501 Uhnwpnidwlw Yuphsubin 3 huwtn 94990 2 190.0
33141122/502 Jppwpnidwywt Luphsutip Q< hwwn 2 0.0
33141122/502 dppwpnidwlwl Yuppsutin 9< hwin 193000 3 579.0
33141122/503 Yhpwpnidwlywl Yuwphsubp QL hwun 35 0.0
33141122/503 Uhpwpnidwliwl uiphsutn < hwn 50000 35 1750.0
33141122/504 Jhpwpnidwyw Ywnphsulip XL hwwn 35 0.0
33141122/504 Jhpwpnidwbwy Yuwphsubip g hwn 50000 35 1750.0
33141122/505 Jhpwpnidwywu Ywphsubip a< hwin 9 0.0
33141122/505 Uhpwpnidwlwl Lwphsutp q< hwin 7000 5 35.0
33141122/506 Uppwpnidwljwl Ywphsubip Q< huwin 0.0
33141122/506 Uhpwpnidwljwu Lwphsutp e huwn 7000 35.0
33141122/507 Uhpwpmdwlwl Yuphsulip a< hwwn 50 0.0
33141122/507 dhnwpnidwliwt Ywphsttin q< huwtn 20000 50 1000.0
33141122/508 yhpwpmdwywl Ywphsubn Q< hwtn 100 0.0
33141122/508 Jhpwpnidwlwl Yuphsubip G hwn 20000 100 2000.0
33141136/543 Yuwptwnbputp 9 huwitn 5 0.0
33141143/502 ulywph$hlwinnp 9c huwwn 4.5 2,000 9.0
33141147/502 phnwuhwjp wubinubip S hwwn 30 0.0
33141147/502 phnwuhwh wubinubn 9L hwwn 1400 20 28.0
33141183/509 qnuntip Qe huitn 1200 20 24.0
33141183/510 qnunbip S hwwn 1200 10 12.0
33141211/567 FARuATD L AP = a¢ hun 15 0.0
wwnwgwubn
33141211/567 pdzhuilyult wy Gan3hpllin = o< hwn 3000 15 45.0
wilupwawubn
33141211/568 RdZHulusb wy( anndhplin = ac hun 80 0.0
wwnwaqwubn
33141211/569 Azl Wil GRSNpUR = 9< huwtn 4 0.0
wwnwawubn
33141211/570 Pzl Ly annengltn = 3¢ huwn 1 0.0
Wwipwauwutn
33141211/571 pOzHulpsts it GANShRLIED = a< hutn i 0.0
wwnwawubn
33141211/572 pZHwlul Wil Gnnéplén = ac huwin 3500 20 70.0
wwpwowubp
33141212/1253 pdzwlywl wy) Yynipan q< hwwn 50 0.0
33141212/1254 pdalulywu wy| uniplip q< hwtn 20 0.0
331412121255 pdawilul wy) UnRED q< hwun 100 0.0
B phnwuhuh — ugunalul) - q huwn 20 0.0
uwnplbn
sats1200/503 | PP rahzitugg:m = MmN oy huwin 6000 30 180.0
33161120/504 thmpmdmuzm gnpdhpubin QL huwwn 8 0.0
33161120/505 Jhpwpnidwulwl gnpdhputin QL hwtn 10 0.0
33161120/506 dhpwpnidwljwl gnpdhputin L huwn 10 0.0
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33161120/507 hpwpnidwljul gnpdhpuip QL hwwn 20 0.0
33161120/508 dhpuwpnidwlwl gnpdppubin L hwun 20 0.0
33161120/509 Uhpwpnidwlwt gnpdhplbin q< hwwn 45 0.0
33161120/510 Uhpwpnidwlwl gnpdhpup 9L hwwn 2500 6 15.0
33161120/511 dhpwpnidwlwl gnpdhpubip Qe hwwn 10 0.0
33161120/512 yhpwpnidwyw gnpdhpulbin QL hwtn 10 0.0
33161120/513 Jhpwpnidwyw gnpdhplbin Je hwwn 10 0.0
33161120/513 Jhpwpnidwlwu gnpdppubp QL hwn 3500 10 35.0
33161120/514 Jhpwpnidwlw gnpdhplbin QL hwn 3 0.0
33161120/515 Jhpwpnidwlwu gnpdhpubip B hwwn 2 0.0
33161120/516 Jhpwpndwljwu gnpdhpltp Q< hwun 10 0.0
33161120/517 ynppwpnidwlyw gnpdhpubin Qg hwtn 10 0.0
33161120/518 Jhpwpnidwywu gnpdhpubip q< hwun 5 0.0
33161120/519 Uhpwpnwdwlwu gnpdhpubip L hwun 18 0.0
33161120/520 yhpwpnidwljwu qnp&hpubip < hwiwn 4 0.0
33161120/521 Jhpwpnidwlwu gnpdhpbp QL hwn 50 0.0
33161120/522 Jhpwpnidwlwl gnpdhpubip q< huwwn 4000 8 32.0
33161120/523 yhpwpnidwlwu gnpdhputin < huwtn 3 0.0
33161120/524 Yhpwpnidwluwl gnpdhpltin QL hwn 3 0.0
33161120/525 Jhpwpnidwljwl gnpdhplbip QL hwn 30 0.0
33161120/526 Jhpwpnidwljwu gnpéhpubip 9L hwtn 30 0.0
33161120/527 Jhpwpnidwywu gnpdhputin q< hwwn 50 0.0
33161120/528 Yppwpnidwlul gnpdhpubip QC hwn 20 0.0
33161120/529 Uhpwpnidwljw gnpéhpubin Q< hwtn 10 0.0
33161120/530 Jhpwpnidwlwl gnpdhpubp GL hwn 1 0.0
33161120/531 Unpwpnidwlwl gnpdhpltip 9L hwin 1 0.0
33161120/532 dhpwpnidwlwt gnpdhplbip QL hwwn 1 0.0
33161120/533 yppwpnidwlwu gnpdhpubip e hwuwn 70 0.0
33161120/533 Jppwpnidwlywl gnpdpputip q.c hwn 29000 50 1450.0
33161120/534 Jhpwpnidwlwu gnpdhpuin G< hwwn 20 0.0
33161120/534 dhpwpnidwlwl gnpdhpubip R hwn 92000 20 1840.0
33161120/535 yhpwpnidwlwl gnpdppubip < hwn 15 0.0
33161120/535 Yhpwpnidwlul gnpdhputip G hwin 91000 15 1365.0
33161120/536 Uhpwpnidwlwl gnpdhpulip < hwwn 55 0.0
33161120/536 dhpwpnidwlwl gnpdhpulip QL huwtn 30000 65 1950.0
33161120/537 yhpwpnidwlwl gnpdhpltn e huwin 50 0.0
33161120/537 dhpwpnidwlwl gnpdhputip q< hwwn 88000 50 4400.0
33161120/538 Jhpwpnudwlwl gnpdhputip < huwiwn 50 0.0
33161120/538 Yhpwpnidwlul gnpdhpltn QL huwin 63500 50 3175.0
33161120/539 Unpwpnidwlwl gnpdhpulp qL hwwn 50 0.0
33161120/539 Uppwpnidwljwl gnpdhpubn G< hwn 63500 20 1270.0
33161120/540 Yhnwpnidwluw gnpdhputip gL hwn 600 2 1.2
33191130/501 pdoyulw dwhEwywiubip q< hwwn 40900 10 409.0
34321210/501 quqiph wpnwlbndwl funnnuuyutip G< hwuwn 20 0.0
35121290/501 inyhsuip a< huwtn 1 0.0
33141174/507 pdalwlywl uwppbiph hwwpwdniubp ag hwwn 45000000 1 45000.0
38501200/501 phahulul [wpnpunnpfwjmd 9 hwin 6168000 1 6168.0
Uhpwnunn uwnplin
33191200/502 pcolulwi ubinwubp Sz hwwn 4700000 1 4700.0
33111360/501 niwnpdwjuwh uwppwynpnudubp GL huwn 1 0.0
24451140/508 wiunwhuwuhs Ujnyatin e Yphingpwd 3000 10 30.0
24451141/502 wiutnwhwuhg hnnly Yjnylp ac {hwp 450 0.0
24451141/502 whuthwhwuhg hnnidy Ynypbp Q< (htnp 6000 300 1800.0
32351230/514 nbungbu Uwputph dwwwlbuuGn gL hwn 840 4,000 3360.0
32351230/515 nblwngU Ulwnlbiph dwiwwybtutn < huwwn 1280 2,500 3200.0
33121180/501 o s i < hun 3150 100 250 |
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JEGwlguwdjw ogunwgnpodwl ny
33141100/519 phipwyw pdolulwl — qL hwtn 18 1,000 18.0
hbdwinninghwlwl wwnwawubn
33141110/501 Yhpwiwwbp qL hwn 240 50 12.0
33141110/505 Uhpwlwwbp QL hwn 50 0.0
33141110/506 Yhpwywuwbin <L hwwn 100 0.0
33141121/501 Jhpwpmdwlwu ghibp QL hwn 300 0.0
33141121/502 Unpwpmdwlwu phibp QL hwwn 1,000 0.0
33141121/503 Jhpwpnudwlwu plikp QL hwitn 900 0.0
33141121/504 Unpwpnidwyw pajEp q<c hwwn 24 0.0
33141121/505 Uhpwpnidwywu phiEn aC hwn 24 0.0
33141121/506 Uhpwpnidwlywl plijbp QL hwwn 24 0.0
33141121/507 Jhpwpnidwlwl phGEn s hwuwn 25 0.0
33141121/508 Uhpwpnidwywl phlbp QL hwin 2700 200 540.0
33141121/509 Yppwpnidwluwt plip QL hwwn 1,800 0.0
33141121/510 Uhpwpnidwlwu phbp 3L huwn 150 0.0
33141121/543 Uhpwpnidwlwl b ac hwin 1,600 0.0
33141121/544 Unpwpnidwlul phibn e hwwn 6000 40 240.0
33141121/545 Uhnwpenidwlwt bt Q< hwin 4000 300 1200.0
33141128/501 Uppwpnidwlwl wubnubn e hwwn 40 0.0
33141128/501 hpwipnidwljuit wubnubip L hwn 13500 30 405.0
33141128/502 Uhpwpnidwlwt wubnubn YL hwin 15 0.0
33141128/502 Yhpwpnidwywl wubnutp 2 e hwwn 13500 15 202.5
33141128/503 Yppwpnidwlwl wubtinutn A hwtn 45 0.0
33141128/503 Jhpwpnidwlwu wubnubp Qg huwn 9000 40 360.0
33141128/504 Yhpwpnidwywl wuknubip G hwn 10 0.0
33141128/504 Uppwpnidwlwl wutinubip Qe hwn 9000 5 45.0
33141136/501 Ywpbwbnubp QL hwwn 800 0.0
33141136/501 wpbwnkpukbp < hwtn 5500 200 1100.0
33141136/502 Ywpbnbpubp < hwn 220 1,000 220.0
33141136/503 Lwpbnbnutn Q< huin 300 0.0
33141136/504 Ywpbwnbpubp q< hwn 5 0.0
33141145/504 wligqujwguwl wubnubip QL hwin 720 150 108.0
33141211/510 PAzuilu wit gnnéhglan = ac hun 200 0.0
wwnwawubp
33141211/562 RzUwul wy| anneheuEn = a< huwin 10 0.0
wwnwauwubin
33141211/573 ozl Lyl arpongan = 9< huitn 10 0.0
wwpwaguwubn
33141211/574 Pl wil anndhplitn = 9< huitn 12 0.0
wwnwawubn
33141211/575 PR w4 GANSTELED = < hutn 10 0.0
wwnwawubpn
33141211/576 Pl U AT = 9¢ i 50 0.0
wwipwauwbp
33141211/576 Azl Wil annhpUD - a< hutn 22000 50 1100.0
wwpwawubin
33141211/577 POZUwljuiu wy GonhpLEn = 9< huwin 50 0.0
wwnwawubn
33141211/578 pdzluibu wi nndhgtien - 9c huitn 30 0.0
wwpwawubn
33141211/578 pdauljw wi) ann3hpUS = ac st 2700 50 135.0
wwnwagwuan
33141211/579 Rd2Gwluwl wj| gnpdhpubn - 9 huitn 4 0.0
wwpwawubip
33141211/580 dzwait wil qrnchgliEn = ac hugtn 36000 1 36.0
wwnwawubn
33141211/581 pdzUuuljwi Wi GRnShpUED = ac hun 36000 1 36.0
wwpwawubin
33141212/501 pdalwlywu wy| Uynipkip qL hwun 100 0.0
|_33141212/502 paoljuyuwill Wy unuplp QL hwwn 5,030 0.0
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[ 33141212/503 ndzUwYuwl Wy Ujniebp ac hwn 50 50 |
[ 33141212/503 ndolwluwl wyi wnuebp a< hwtn 2000 50 100.0
33141212/504 pbp bl wy) Unyetbn Q< hwn 100 0.0
33141212/504 pdoliwlw wy UyniRbp S hwwn 830 200 166.0
33141212/505 pdalulwl wy| WyniRGD QL hwwn 107000 1 107.0
33141212/506 achpluiljwi ) Uynipbip 9< hwtn 3600 300 1080.0
33141212/507 pdaluilwl wy) unuebp L hwun 40 0.0
33141212/508 pdpuilwl wy| nwRbp 9L hwn 3680 50 19.0
33141212/509 poplwlut uy uynyetip QL hwwn 20 0.0
33141212/510 pdolwlwl wyy YynuRbp QG hwin 2400 100 240.0
33151220/503 pRYwWALWhY nhiwl a< hwn 1,000 0.0
33151220/503 prYwduwhu nhdwy QL hwtn 300 1,000 300.0
33161120/541 dhnwpnidwlul gnpdhplbip ac huwn 2250 8 18.0
33161120/542 Jppwpnidwlwl gqnpdhpubip S hwun 1900 10 19.0
33161120/543 Jhpwipnidwljut gnpdhpubn Q< hwn 1950 20 39.0
33161120/544 Jhpwpnidwlwu anpdhpubip Q<L hwwn 1850 10 18.5
33161120/545 Yhpwpnidwywu gnpdhpubip q< hwin 10 0.0
33161120/545 Jhpwpnidwlwl anpdhpubin qL hwwn 1760 20 35.2
33161120/546 dphpwpnidwljwl gnpdhpubn Q< hwn 1750 20 35.0
33161120/547 Jhpwipnidwljul gnpdhpubn q< hwwn 2800 1 2.8
33161120/548 Jhpwpnidwlwu gqnp&hpubin QL hwwn 1 0.0
33161120/549 Yhpwpnidwlywu gnpdhplbip QL hwin 1 0.0
33191490/502 Vbpwnliw wndwbn < hwn 10 0.0
hwlwub wlwnhutunpl) —
33621641/502 ”wmmthﬁinm ut;gnﬁu:;m 9c huwin 1,500 0.0 :
33621641/503 huljwUbfuhs (wnhubujnhl) = q< huwin 50 0.0
e
33691421/520 L ('ilb“mth;n;? h‘ff” o 9< hun 3 0.0
wpnpuwnnn wanuny
33691422/501 (nhm;bh"mgbm m“n?hq[}w ujqpmnuuun 9< Yhinanwd 5 0.0
33691823/501 $npdwinthpnh unwunwpn (nidnyp Q<L hwun 498.57 700 349.0
33711490/503 wwhuuwlutp ac hwtn 99 1,500 148.5
34321210/502 qugbiph wpnwubndwu funnnywlubp QL hwwn 20 0.0
35121290/502 inyhsubip s huwtn 1 0.0
33141300/501 abnungulip pdzywl ng unbinhy Q<L hwn 40,000 0.0
33141300/502 aknungutin pdaywl ny uwnbpht gL huwtn 180,000 0.0
33141300/503 bnungUbip pdalwl ng unbinhi QL hwin 37,000 0.0
311511201 wiluwthwl utngduu wnpjnuputn uu hwun 202000 2 404.0
31171200/ JwnUw thnfuwlpuhsutp Ul hwn 33000 5 66.0
31687000/1 hnuwuph Yupawynphs uu hwn 23500 1 235
33111360/502 N PWEWUWhu uwppwynpnuwiutip L hwun 1 0.0
e || U AmSRETEE ac huin 950000 1 950.0
uwnpbin
33141174/501 pdalyulywl uwnpbph hwlwpwdniitn St huwn 954000 1 954.0
33141211/582 pdzHuluit w Gndhplin = a< hun 6 0.0
wwnwawbbn
33141211/583 Azl wil gnn3hpUbn = a< hwtn 10 0.0
wwnwawubn
33141211/584 Izl Wil GNORRIEY = 9¢ huitn 5 0.0
wwpwaguwubn
33141211/585 ROl wjL grndheutin - 9< hwitn 150 0.0 =
wwnwawubn -
39331100/501 whnwhwudwu uwpphp Q< hwiwn 1 0.0 ¥ |
33141211/584 pogHuds un GOCARE = a< huwn 1 0.0 =
wwpwawlbp g
33141211/585 Rl wjl gnnéheUen - 9< hwitn 1 0.0 K
wwnpwawubn 7
33141211/586 gl g, O~ ac hun  |17.500000 1 17500.0
wwnwawubn
[ 38411200/ obpdwswinbn Uu hun 20,000 i 20.0
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1[ 331411100507 | dnpuwiywugbn ac | hwwn o || oh o
2[ 33141110508 | Uhpwiljwuytn o< hwun e || 08
3| 33141136/505 yuptntpUtn qc hwtn 300 | 0.0
4| 33141136/508 GwpGWEPUGN qc huwn 5 T
5| 33141142/501 ubpwnyhsutn L7 huwn 5,400 400 2160.0
6| 331412117588 pdz”muuf‘:];”ﬁ;zmg“b” 3 ac hun 200 0.0
4| 33141211/589 Rd2Uwluwill wj gnneheUEn — q< hun 35,000 10 350.0
wwnwaguutp
g| 33141211/590 pd?“‘”“ﬁ“{ﬂmﬁﬁgt{"ﬂbb” N a< hun 35,000 10 350.0
pdoywywl wy gnpohputn —
g| 3314121 1/591 wupwquilin QL hwn 35,000 10 350.0
10| 331412117582 pdz“w“;‘?urjsgzgﬁghb“ & q¢ huwtn 12 0.0
pd2luywl wy gnpshpubp —
1| 33141211/593 it it Q< huwtn 50 0.0
pd2ywlwl wyi gnpbhelGn —
12 33141211/594 wwnwqulitn QL hwwn 4 0.0
13| 33141211/595 pd?”‘““mr‘fd}gﬁﬂig‘?“““ % 9¢ hwtn 20 0.0
14| 33141212/511 pdzlwlwl wy Wnepbp QL hwin 100 0.0
15| 331412121512 pdalulwil wy UnLREn q< hwn 5,030 0.0
16| 33141212/613 pd2lwlwl wy Wnepbn QL hwtn 40 0.0
171 33141212/514 pdzlwluil wy UinLRED QL huwn 20 0.0
18| 33141212/515 pd2lwlwl wy Wnupbp Q< huwin 206 1,600 330.0
19| 33141212/516 pd2lwibwu wji Wneebn GL hwwn 188 3,400 640.0
20| 33141212/517 pd2ywlwl wy bnupEn QL hwtn 130 5,000 650.0
21| 33141212/518 pdzuwlwl wy WnLpbn Q< hwwn 6 0.0
22| 33141212/519 pd2lwywl wy Wnuetn QL hwn 16 0.0
23| 33161120/550 yhpwpnidwywu gnpohplbp a< huin 1 0.0
24| 33161120/551 Unnwpnidwlywl gnpshputn QL huin 1 0.0
25| 33191490/503 ubpwnpyUwl wndwtn QL hwwn 10 0.0 2
26| 33191530/501 wnjwl thnfulipwpyuul WnuRtN qs huwin 700 5,000 3500.0 -k
hwyuwubhupy (wlwnhubwwhly) — 2
57| 33621641/504 \uhunwhuiby Uhpngbn < huwn 1,000 0.0 g
hwlwlbhuhg (wuwnhutwwhly) — 5
4
33621641/504 L puunuhuitiny UpgngUtn gL huin 1,000 500 500.0 %
,g| 33621641/505 hw“mﬂ“ﬁﬁ&tﬁ?ﬂﬁ;ﬁé‘#’ el 9¢ huin 50 0.0
WwpnnuINn wagnwlynLpkn
g| 33691421/521 (mbugtlunLtzn) hnnil qc (hup 3 0.0
|WRNpWNnN wanwunupbn
30 33691422/524 (abwiglunin) dinoh Yu i ol QL Yningpwd 5 0.0
31| 343212101503 | quagbinh wpunwuGnUwl funnnywiyun qc huwn 20 0.0
32| 35121290/503 whsutin QL huwun 1 0.0
31521510/507 L{hnmhmmmanh wwen L hwin 160,000 10 1600.0
33191220/505 yhpwpentdwlwl ubnwuutn QL hwun 1333333.3 3 4000.0
33191220/506 Jhnpwpnidwlywl ubnuwutn QL hwwn 1550000 2 3100.0
poZquibw wy| gnpohplbn —
33141211/587 gy o QL huwtn 57500000 1 27500.0 5
1 33141120/501 nhuwy Q< huwitn 86 80,000 528.0 %
20 33141136/515 YwptwkpuLn G< hwin 5 0.0 2
3| 33141144/501 pdolwhjwils wubnubn qc hwtn 25 0.0 o
4| 33141147/503 phnwupugh wubnutn < huwin 5800 25 1450 .
5| 33141211159 pdzUwluw Wyl gnABhelian — ¥4 hwtn 20 0.0
wuwpwgultp
6| 331412111597 o2l wy gnpohpUEN — Gc huwn 1 0.0
wwpwawltn
7| 33141211/598 pd24uwilwi wjl gnpshputn — < huwn 12 0.0
wwnwguwubp
pdzLuuils wy gnpshaltin —
8 33141211/599 uywpwQULED QL huwn 4 0.0
o[ 33141212520 ol wy WnLptn ol hwwn 3 00 |
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10

12
13

15
16
17
18
18
20
21

22
23

24
25
26

33141212/521 pd2ywlywt wyy Unipbp q< hwwn 1,000 0.0
33141212/522 pd2ywywl wy Unupbp B hwn 5,030 0.0
33141212/523 pd2ywlywl wy Unptp < hwn 40 0.0
33161120/553 Yhpwpnidwwl gnpdhputn Sa hwtn 1 0.0
33161120/554 Jhpwpnidwlywl gnpshplbn gL hwtn 1 0.0
33171400/503 Ytpwytunwlwgdwl nhuwy Q< hwin 9750 3 29.3
33171400/504 JtnwlEunwliwgdwl nhuwl 9 hwn 9750 3 29.3
33171400/505 yGpwlysunwuwgdwl nhdwy QL hwwn 9750 it 107.3
33171400/506 YEpwlbunwbwgdwl nhuwy Qc hwwn 9750 12 117.0
33171400/507 yEpwytunwuwgdwl nhdwly QL hwwn 9750 11 107.3
33191200/503 pd2ywywl ubnwlbp QL hwtn 74600 50 3730.0
33191490/504 utpwpyuwl wndwtp Q< hwun 10 0.0
hwywubhuhy (Wunhubwunhly) —
33621641/506 vahusrnsbuallibg pndlibn < huwin 50 0.0
14 lwpnpuinnp wgnwlnwetp
33691421/522 (rbwighlaibn) By qC thip 3 0.0
jwpnpwnnn wqnwlynupbn
33691422/525 iohinalitin) yioh Lnuf oo ondion 9< Yhingpud 5 0.0
34321210/504 qugbnh wpunwlBindwl fjunnnyuwyltp Qg hwn 20 0.0
35121290/504 whslibp qc huitn 1 0.0
33161150/501 ynpuwnuynuy Q3 hwin 15000000 1 15000.0
pd2ywywl uwppwynpnLdutnh
33111490/503 wwhbunwdwutn a3 hwn 1 0.0
pd2jwlywl vwppwynpnidubph
33111490/504 wwhbuwduutn a3 hwwn 1 0.0
pd2ywlywl uwppwynpndutph
33111490/506 e e a3 hwwn 1 0.0
33171700/501 wuqgujwgdwl uwppbp huwin hwun 1 0.0
39331100/502 whunwhwudwl uwnppbn hwin hwwn 1 0.0
33600000 nEnnpuyp b wungwutnwlyniptn 0.0
33611100/504 outwpwagny a02bc01 a3 hwn 10.2 1200 12.2
33611120/509 Swdninhnhu A02BA03 a3 huwin 838.78 3000 2516.3
33611120/510 dwunwhnhu A02ZBAO3 Q3 hwn 5000 0.0
33611130/509 wwnpnwhl a03ba01, s01fa01 a3 huwin 52.14 4000 208.6
33611140/504 olunwlutwnpnu a04aa01 a3 huwin 129 10000 1290.0
33611160/505 dtwnnyinupuwuhn a03fa01 Qa3 huwin 43.061 15550 669.6
336111701502 npnnwyGnhl a03ado2 a3 hiutn 150 0.0
33611170/502 nnpnunuwtphl a03ado2 a3 hwun 154.2 50 7.7
33611200/508 InweEpwuhn a07da03 a3 hwin 2050 0.0
33611200/508 |nwGnwdJhn a07da03 a3 huwin 8.47 5000 42.4
FRWURU (RRWUnRUR ApRNNRINPART,
nhpndjwdht (nhpndjuyhuh
33611440/502 | vwwnphnuwywu $nudpwin), whphnopuht 9L hwwn 152.49 100 15.2
(whphnopuhth hhnpnpinphn),
Uhlininhtinihn  AT1IEX
33611470/502 wwlnnwpuwgng YL hwwn 200 0.0
33611470/502 wwlwnnupwagny 2 hwwn 12000 200 2400.0
33621100/509 | "ownhU U‘“”’“h&‘d ?f]abm' ] g hun 1315 5000 6575.0
sUlxa
33621100/510 | "oHwrhy ““’m"h&‘d :’;”abm' Al l g huwtn 426 400 170.4
sOlxa
33621120/509 tuopuwuwpht b01ab05 QL huwin 2858.33 3000 8575.0
33621120/510 Euopuwuwwnhtu b01ab05 & huwn 2300 5000 11500.0
33621160/506 wlhuwlwwpnuwppnt b02aad! QL huwwn 800 1000 800.0
deuwnhnt (Jbbwnhnup bwnphnwdwlwu
{ QL huwn 70.2 100 7.0
i i phunybhwn) BO2BAO2
FwhUEphU (wnpblwihu) a0fad0T,
33621290/504 b02bc09, cO1ca24, rO1aal4, r03aal1, QL hun 134 100 13.4
s01ea0l
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33621330/505 Uhybpwdhn RO7ABO2 Q< hwtn 130 500 65.0
33621340/509 | ynpbhu Uwwnphnuh phugnwn NOGBCO1 QL hwn 315 80 2.5
33621340/510 | Yn$biht Lwwphnuh phugnuin NOBBCOT | G¢ huwitn 37.8 800 30.2
tinhy tinuhuinpwin (Uhuipng hgtnht)
33621360/506 | H' %
c01da02, c052¢01 - gl i 4 Rad
aihgtinh| bnuhinpuwin (Uhinpng hgbinht)
33621360/507
c01da02, c05ae01 i b 200 e
athgtinhy bnuipwpwin (Upnpngghglnhu)
33621360/507
c01da02. c052e01 i hicsth & ik 2t
33621390/506 wdhnnwpnl c01bd01 Qc hwn 46 280 129
33621390/507 wihnnwnpnu c01bd01 e hwin 255 400 102.0
33621440/504 | PEUMWANL PO || o husin 252 1500 37.8
33621510/502 Ywwinnwphy c09aa01 Fa hwn 500 0.0
33621510/502 Yuwiuyinnuynhy c09aa01 ac hwn 10.5 500 9.3
wwiywybpht (wwwwybphup
33621540/503 L2 .
/! bkl HOBAY hwun 32.28 1000 393
Wwywidtnht (WwwwyGnphon
hhanngnphn), Ynntht, dnp$hu
33621542/505 : QL hwn 3100 0.0
(dnpdhup hhnpnpinphn) Unulwwh,
Biinyihl -NO?AAS]
33621590/508 $nipnubidhn c03ca01 9 hwwn 26.73 5000 138.7
33621590/509 $nipnubidhn c03ca0l GL hwn 400 0.0
33621590/509 $rupnutishn. c03ca0l a< hwn 3 400 1.2
33621620/502 uwjhpnunjwlwnnt c03da01 9L hwtn 300 0.0
33621720/503 phunwpnin; c07ab07 Q< hwwn 12 200 2.4
33621730/503 Ybpwuwywdh) c08da01 G< hwn 428.16 100 42,8
33621768/502 nhinhwqbd a< huwitn 64.26 100 6.4
15;
33631310506 |MHMPELLL d”a’gfb‘c’ggiabos' e huwn 101.64 700 71.1
s
33631310507 |MUINPEULY d”as’gﬁ)'c'ggaboi b BT hutn 30 35000 1050.0
33631350/502 whwbynipnthnwh ppndhn m03ac06 < hwin 150 0.0
33631380/502 | winjwbphgnuh hhnpnpinphn. MO3BX04 < hwn 851.9 40 34.1
nbpulEinnypn$bu (nbpulbinnwpndtuh 00 0
33631430/502 inpndbuwdng MOTAEI7 s hwin 10 .0
nbpultiinnwnpndtu (nbpuybnnwpndtup
QL h 498 1000 498.0
s npndtnwdng MOTAET? v
Foinwitpwant [pEinwdtpwanuh
nhwpnuhntwwn), Yininphdwgn,
4 2 QL h 180 500 90.0
AR qliiinwdhgh (qEuwnwdhghuh unybwin) g
DO7CCO1
33651111/505 wdopuhghihu j01ca04 G2 hwtn 1815.13 500 907.6
33651111/506 wdopuhghtht j01ca04 < hwwn 200 0.0
33651111/506 wdopuhghiht j01ca04 QL hwun 198 1000 198.0
33651118/506 gubunphuwpunt j01dd04 a9 huwn 144 25000 3600.0
33651123/502 glibninwpuhd j01dd01 Q< hwitn 200 0.0
33651123/502 gbdninwpuhd j01dd01 Q< hwtn 190.2 200 38.0
33651124/502 gbduinwghnhd j01dd02 9L hwn 600 50 30.0
33651125/503 wqpepndhghu j01fal0, sO1aa26 F< huwn 264 100 26.4
gunwdhghu d06ax07, j01gh03, sOTaall, q h 900 0.0
33651126/502 Ol SOERE £ win g
gqbuuinwdhghu d06ax07, j01gb03, sOlaall, ac h 66 300 19.8
s s02aal4, 503206 g
unypwidbpopugn] + tinphdbpnwyphd
1131/504 . e hwwn 11.57 600 6.9
FRGBAR0Y | i0lesDl, 0en0, I01as0, jDissl?
ghwpndlopuwght j01ma02, sO1ae03,
T QL hwun 250 4000 1000.0
i s02aal5, s03aal7
ghwnn$lopuwght j01ma02, s01ae03, Q¢ i 26.04 500 13.0
e S s02aal5, s03aa07 >
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prnpwdpbithyn; d06ax02, d10af03,

33651135/503 g01aa05, j01ba01, s01aa01, s02aa01, < hwn 240 1000 240.0
5032208
33651138/502 |[-ndlopuwight j01mal2, s01ae05 9L hwtn 3050 200 610.0
33651139/503 Unpuh$lopuwghti j01malt4, s01aeQ7 G hwn 844 .44 4500 3800.0
33651140/503 gbtiwhd j01de01 G hwin 1240 700 868.0
33651141/502 gbPninopuhd j01dc02, s01aa27 a< hwtn 730 300 219.0
33651143/505 dGpnwutd j01dh02 qC hwtn 4790 200 958.0
33651150/504 | $yniynuwgny d0tacl5, j02ac01, j02ac01 9 huwtn 500 0.0
33651150/504 | $ynihntwgn| d01acl5, j02ac01, j02ac01 q hwin 80 500 40.0
33651163/505 wudhlwghu d06ax12, j01gb06, s01aa2l 9L hwwn 2250 200 450.0
33651227/504 nwlwppwght 101ax04 QL hwun 500 0.0
33651230/514 nopunnniphght 101db01 < hwtn 2500 0.0
33651231/508 Einnuwynghn, 101cb01 9< huwitn 1000 0.0
33651232/514 Ywppnwjwwnht 101xa02 S hwn 1500 0.0
33651238/506 ghyin®nudwdhn 101aa01 L hwin 7000 0.0
33651242/509 nngbitnwpub) 101cd02 S hwn 2000 0.0
33651243/518 wwyhwnwpuby 101cd01 L hwn 2500 0.0
33651245/507 qhiughiwpht 101bc05 9 huwitn 800 0.0
33651245/507 gbdghnwpht 101bc05 9 huwin 20000 700 14000.0
33651246/503 hphununbyw 101xx19 9< huwtn 150 0.0
33651246/503 hphununtbluwt 101039 G< hwn 15000 150 2250.0
33651247/504 twhpniphght 101db03 She hwun 500 0.0
33651247/505 twhpniphght 101db03 q< hwwn 100 0.0
33651248/504 opuwhwjwwhu 101xa03 q< hwwn 1500 0.0
33651249/506 yhunpbipht 101ca04 9< hwwn 200 0.0
33661100/502 hwnpwl n01ab01 9 hwwn 24000 10 240.0
33661110/505 hgn$nipwu n01ab06 9 huwtn 27999 400 11199.6
33661112/504 wpnwn$np n0lax10 q< hwwn 670 1500 1005.0
33661113/504 phnwbuwnw| n01af03, n05cal9 i hwn 2350 1000 2350.0
33661114/503 $bunwuh) n01ah01, n02ab04 QL huwtn 420 10000 4200.0
nljwjhu c01bb01, c05ad01, d04ab01,
33661116/511 "‘n'B]Lt‘)bégﬂ 000 0107 02001 a< hun 1000 0.0
nljw cO , €05a . al ,
33661116/512 'J:(‘) 1?;&;3’12, ; % S g% nga%?' S%idi%] 9< huwin 8000 0.0
nlwjhu c01bb01, c05ad01, d04ab01,
ik s mn%ll;bé)g. r02ad02, s01ha07, s02da01 o= i 1958 " b
33661120/503 Unp$ht n02aa01 9C hwwn 300 0.0
33661120/503 dnp$ht n02aal2 QL hwtn 420 3000 1260.0
wgbwnhuw wreent allad05,
ssseransoa | e % ihe ) BRI -
33661122/503 wwpwgbinwiding n02be01 S hwtn 40 0.0
33661122/503 wwpwgbinuwdng n02be01 4 hwn 2190 60 131.4
dbwnwdhgn) (dewnwdhgn| bwwnphnud),
33661125/505 whinnlunt (whundblnth 9¢ huwin 4000 0.0

hhnnpng|nphn), $elwhyphuhnuh
ppndpn NO2BB52 , AO3DAO2 , NO2BB52

33661125/505

dbnwdhgny (danwdhgn) uwwnphnud),

gl O R 9¢ bkin 53.66 1000 537
hhnnnpinphn), $Euwhytphupnudh

ppndhn NO2BBS2 , AO3DAO2 . NO2BB52

33661125/506

dbwnwdhgny (Uenwdhgn| bwwnphnud),

g EENTE SRR A 9< huwn 110.4 970 107.1
hhnnnpinphn), $euwhyaphubnudh

ppndhn. NO2BB52 , AO3DA02 , NO2BB52

dbinwihgn| (UEnwdhgnih Uwinphnud)

Qut, h 37.8 40000 1512.0
33661127/504 NO2BRO2 wn
33661128/502 Ywppwdwgbwhu n03af01 < hwwn 4250 0.0
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33661128/502 Ywppwdwgbwhu n03af01 G hwwn 10.8 1000 10.8
33661135/503 dhnwanud n05¢d08 a< huwn 798 300 239.4
33661136/504 nhwgbiwwy n05ba0! 9< hwtn 3700 0.0
33661136/504 nhwqbwwd n05ba01 Q< huwn 67.9 300 20.4
33661137/507 Inpwqbiyud n05ba06 9c huwn 1500 0.0
33661147/504 utinuinhqdhu n07aa01, s01eb06 S hwun 37.78 650 24.6
nbpuwdbpwagnu alTacUZ, cU5aaly,
d07ab19, d07xb05, d10aa03, h02ab02
33661153/509 4
r01ad03, s01ba01, s01cbO1, s02ba06, " o & f0eth 0.0
G s03ba0
U (pbu uh h
33661150/504 | PEUNLEbRNU (5 sl el I huin 78.41 200 15.7
EU U (PGu h
33661159505 | PEUNEPU (PEUREDRPU hhapnpnphr) | ¢ o 213.3 500 106.7
COICAD6
33671113/502 uwipnunwudng r03ac02 < hwn 775.2 20 15:5
33671114/504 wuhunphiht r03da0s q< hwwn 36 2000 72.0
33671115/502 “”‘13’”“””3’””“”;%;:;"4”““”h“h iRl g huitn 1700 0.0
wnnppwdhght, nhpuwdbpwant
33671124/502
/ i 9< huwtn 134373 10 13.4
wdppopun| (wdppopunih hhapnpinphry)
33671125/504
/! RO5CB06. ROSCE q< hwitn 99 1100 10.9
33671130/503 nh$tuhhnpwiht d04aa32, d04aa32 < hwtn 10000 0.0
33671130/503 nh$Luhhnpwuihl d04aa32, d04aa3?2 9< huwin 22.05 45000 992.3
dbinpnthnwgny a0labl7, d06bx01,
33691112/503 : a9 h 1 1 ;
g01af01, {01xdO1, pO1ab0l s 5 Baay o0
]
33601136/524 | owrhnuh 9";’62@:05“01' RNy 1 g ik 165 100000 | 16500.0
U ] 1 . ;
Saatany | el g el b GC huwn 1100 3000 3300.0
b05xa03
33601136/526 | Uwerhnudh Dl’;%';”aaégcam' b03cbOl, ac huwin 165 30000 4950.0
X
sseonaesyy | enheeh g el bOSehOl, 9¢ huwitn 510 1000 510.0
b05xa03
ascamaesas | TUenhouh pmpi 2o, BOSUI, a¢ huwtn 410 0.0
b05xa03
u d 12ca01, b05cb01,
33691136/528 | |wnrhnudh pinphn alea . q¢ hwtn 160 90 14.4
b05xa03
33601136/529 | wrhnwih pinphn aT2cadl, b05cbOT, a< huwtn 158 500 79.0
b05xa03
33691138/508 gyniyng b05cx01, vO4ca02, v06dcO1 QL hwwn 1100 2000 2200.0
33691138/509 | qyniyng b05cx01, v04ca02, vO6dcOl 9< hwin 172 8000 1376.0
33691140/509 "“gb‘”h@h““”“r; r°058°b°" il G¢ hun 210.98 400 84.4
suUxa
sasbimn | PaPhhumbiESEh0l, Wik, 9< huwn 1700 0.0
s01xa08
33691140/510 “95”"”9“‘"%“1 '005§b01‘ wiSeh2, q¢ huan 47.52 500 23.8
sUIXa!
dwqubtighnuwh unydwin a06ad04,
114 QL h 37.8 300 ]
3369TH5505 | 19000, li5xa05, iiaxtls. Wideglld g
33691176/598 wy) nEnnpujp QL hwin 600 0.0
33691176/599 wy| nEnnpw)p qQ< hutn 365.62 60 21.9
33691176/600 wj| nEnnpuw)p S 1 hwwn 420 0.0
33691176/601 wj| nEnnpuip L huwn 108 1200 129.6
33691176/602 w| nbEnnpu)p QL hwin 10 0.0
33691176/602 wy nbnnpwp QL huin 12599.22 40 504.0
33691176/603 wy| nnnpwp ac huwn 420 1000 420.0
33691176/604 wy| ninnpwyp QL huwin 950 700 665.0
33691176/605 wy nbnnpwyp a< hwn 40 0.0
33691176/605 wyj| nnnpwp S hwun 5000 10 50.0
33691176/606 wy| nEnnpwp B hwwn 60 0.0
33691176/608 wj| nGnnpwjp B hwwn 275 800 220.0
33691176/609 wy| nEnnpwjp e hwwn 9.95 200 12
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33691176/610 wj| nbinnpuwyp g huwitn 347 9500 3297
33691176/611 wj) nbnnpwp < hwin 1600 0.0
33691176/611 wj| nEnnpwip 8L hwwn 116 400 46.4
33691176/613 wy nbnnpw)p e hwin 55980 20 119.6
33691176/614 wj) ninnpuw)p QL hwtn 1132.29 100 13.2
33691176/617 wj| nEnnpw)p 9L hwwn 170 0.0
33691176/617 wj| nbnnpwjp Q< huwun 2031 30 60.9
33691176/618 wj| nannpw)p 94 hwwn 1401.24 50 70.1
33691176/619 wy| nhnnpuw)p 4c huwwn 3306.3 100 330.6
33691176/621 wj| nEnnpuwjp Q< hwtn 180.62 100 18.1
33691176/623 wj| nEnnnwip GL hwn 1250 0.0
33691176/623 wj| nnnpuwjp q< hwin 7000 1250 8750.0
Erhidtiphihhnpopuhwhphnhtp
Il
33691188/502 unilightuun NOZXX Q< hwwn 650 200 130.0
rhnunweent (wiw- (hwnjwpepny)
33691190
/502 AIGAXO1. AO5BA Gt hwn 50 23000 1150.0
33691191/504 | $nudnihwhnubip (ubughw)-tdL A0SC qc hwn 45 3000 135.0
33691198/503 wnbUGhNURL - AT6AAD2 q< huwtn 100 0.0
33691198/503 wnbidbwnhnuht - AI6AAQ2 9< hwtn 2750 200 550.0
33691202/518 Eurnwdghjwwn - BO2BX01 &L hwin 3000 0.0
33691202/519 Einwdghjwin - BO2BX01 QL huwtn 5000 0.0
33691202/519 Funnwdghjwin - BO2BX01 9L hwwn 50.4 10000 504.0
33691209/502 Lo g o e %< huin 168.63 1000 168.6
hhnnnpinphn) - GO4CAQ2 g 5
33691212/502 nhnudhl, htuwbiphnhu-CO5CA53 G huwn 88 200 17.6
(hn$htugyws Yhunwuh Yuplweeywhu
dwbpbubp (lywnpwghnw
33691213/502 Se hwn 135.23 200 27.0
wghnndhinw, phdhnnpwlntphnu
wupdwihu) -A07FAO1
33601215/502 |  “dewnnnuen Eg‘géglm"‘”b”m 9< hwn 2180.3 230 501.5
33691217/502 hywpnwnhu-COIEBI7 3¢ hwn 140 300 42.0
dwqubghnud wuwywpwuwn (Jwqubghnu
wuwwnwwinh inbwnpwhhnpuwn),
33691218/507 G hwun 80 0.0
y Ywihnwih wuwwpunwn (Yuhnod .
wuwjwpnwinh htdhhhnpwn) - A12CC05
dwqubghnw wuwwpunwwn (Jwaubghnw
wuwjwpunwinp nbwnpwhhnpwn),
3691218/507 q< h 288 20 5.8
R i Ywihnwh wuwwpuwn (Yuihnw i
wuwywpunwwnh hdhhhnpwn) - A12CC05
Jwgubghnud wuwwpunwn (Jwgubighnud
33691218/508 HOGRIPCRLAE RN L, ¢ huwitn 3800 0.0
Ywihnwh wuwwpunwn (Yuhnu
wuwywpwnh htidhhhnpwn) - A12CC0O5
dwqubghnd wuwwpuwwn (Jwqubghnud
saaoipmne | | MWD NS P, ac huwn 29.59 1000 29.6
Yuwihnuih wuwwpnwen (Guihnod
wuwjwpnwwnh htidhhhnpuwn) - A12CCO5
33691220/505 hunghu-CO1EB 9 huwitn 63 1000 63.0
AR RAMAND RSP 9¢ h 3095 4500 139275
33691223/507 BOTABOS win
3095 2500 77378
33691223/508 U“‘““”“‘“‘"h‘éhg:*:‘slgg”‘dw““h sl BE - huin 4000 3000 12000.0
33691225/504 pbugnpwpphunw) -NO3AA G hwn 500 0.0
33691225/504 pEugnpwpphinw) -NO3AA QL hwwn 18.75 2000 D
wpwdwnng (npwdwnnih hhapngiaphn)- | - ik 1400 0.0

33691226/505

NO2AX02
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npwidwnng (wpwdwnngh hhypngnphn)-

33691226/50
/505 NO2RX0D 9< hwitn 27 100 2.9
wnwdwnn| (npwdwnnih Ahnpnpmphn)-
33691226/506
NO2AX02 W huin 74 700 51.8
33691280/507 ghuwjwnh 1 dg/d; 50 ] 9 hwin 2000 0.0
33691320/502 dbwnuinptipuwin 500 dg/d 9< huwin 250 0.0
33691500/508 npwbpuwdwppnt 9< hwin 150 0.0
33691500/508 nnwibpuwdwppnt 8 hwn 260.81 50 13.0
33691500/509 npwlbipuwdwepnt 4L hwtn 944 700 660.8
nbputnpnq (nEputnpngh dntinhhnpun)
33691727/503 VOBDCOL. BO5CXO] Q< huwin 40.95 200 8.2
33691728/507 Ybgni fubid, pubipndnpd DOBAX q< hwwn 100 0.0
33691728/507 Ybsni fubd, pubipnbnpd DOJAX 9L hwtn 246.4 450 110.9
bpbwreh hhnpopuhnh nEpunnWLWHG
33691730/506
S sl BRAL < hwin 410 0.0
tinlwieh hhnpopubnh nbpumpwLwLHG
33691730/506 9 : :

/ e R < hwuwn 835.73 90 75.2
33691811/506 rhuwlnnhy Q< hwtn 32.08 4000 208.3
33691814/505 hhnpopuh| oujw Q< hwin 4995 200 999.0
33691814/506 hhnnopuhy ouw Q<L hwun 2384.62 650 1550.0
33691816/504 | UAUEANNLR Wwlihuinh afkhgn, [ huitn 2000 0.0

whphnopuhth hhnnnmrl]'nhn
1] "
33691816/504 | ““HEahnudh winwinh nhhfinaun < e 48 1000 48.0
whnﬁnopu};uh hhnf?npmnhn
wtnhunnwnhy (wknhunnwnhih aQ 3 "
33621480/505 ik ERERk £ hwwn 3960 100 396.0
33661117/503 Ywindwuninh hwindy NO5CM09 q< hwn 1000 0.0
33691176/631 wj nbnnpuwp %< huwtn 840 8000 6720.0
33631260/503 Jnn. DOBAGO3 e hwn 100 0.0
33691176/627 wj| nbnnpwip Sie hwin 15960 3660 58413.6
33611310/506 huunyhl qc hwn 30 0.0
33631460/503 "Hipuwwliptiung DO3AX03,RO1AX10 G< hwin 500 0.0
33631270/503 wnwldwlnyw Yuwws DOBAX g4 hwtn 120 500 60.0
33671135/504 Ywighnuih pinphn - BO5XA07 4L hwtn 250 0.0
33691176/628 wj| nbnnpuwip L hwtn 2667 500 13335
33611180/503 |wlwnning a06ad11 q< huwn 50 0.0
33691176/634 wy nnnpuwyp Q< huwin 28 0.0
dwqubighnwh unybuin a06ados,
1145/ q< h 400 0.0
IR | it isos. d1ax05, v04cc02 gic
33691135/504 Uwwnphnwh phljwppntwn b05xa02 e hwin 200 0.0
33691135/504 Lwwnphnuwh phlwppntwin b05xa02 < hwtn 900 100 90.0
33691136/530 Uwwphnuh pinphn al2caol, b05cb01, a¢ Bt 200 0.0
b05xa03
33691136/530 | ““"rhnudh ennhn al2cal, BOSCBOT, [~ hustn 720 3300 2376.0
b05xa03
33691176/629 wj| nnnpuwip QL huwin 850 0.0
33691201/503 | Hwniwfuninh ngbienind -NOSEMDT | huwun 150 100 15.0
prwwlywl dwadwu nbn
33631250/507 Epwun| d08ax08, v03ab16, v03az01 Q< Lhunp 1099 3000 3297.0
33621100/512 hGwwpht twinphnud b0Tab0T, c05ba03, Q¢ 25 50 0.0
s01xal4
33631250/508 Epwun| d08ax08, v03ab16, v03az01 QL thunp 100 0.0
33611350/508 “’”l‘"”“h““”‘af::]‘qig:“dos‘ PR 9< huwin 15000 0.0
33691176/632 wj| nbnnpwjp Q< hwn 420 20 8.4
33651280/504 th$nipopuwghn A07AX03 B huwtn 250 200 50.0
33691176/630 wy| nbnnpwp 4 huin 300 0.0
wynwihupnuh hhnpopuhn +
33611110/505 dwqutighnuih hhnpopuhn a02aa04 e hwn 50 0.0
_a02ab01 g04bx01
33691176/633 wj] nbnnpwp Q< huwn 1000 0.0
33691210/505 unpndwlphu Y-COTACO1 G hwn 50 0.0
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Erbippndhqnyw Bpfwtwin,

33621300/504 | $Lunpwpphinwy, wnwbinuih whwuniup QL hwn 200 0.0
inin_NOSCM
33661162/501 dbpwnnuh hhnpnpinphn. NO7BCO2 o hwin 100 0.0
33661162/502 Jbpwnnuh hhnpnpinphn NO7BC02 Q< hwuwn 100 0.0
33661162/502 dbpwnnuh hhnpnpinphn NO7BC02 a< huwtn 64950 10 649.5
33651227/501 nuljwppwahu 101ax04 9 hwwn 14000 50 700.0
33651230/501 nepunnniphghts 101db01 QL hwn 13980 600 8388.0
33651231/501 Ewnnwnghn 101cb01 QL hwtn 7200 200 1440.0
33651232/501 YJuwppnwjwinht 101xa02 Q<L hwn 31 200 6.2
33651238/502 ghyndnuwihn 101aa01 L huwtn 2000 0.0
33651242/501 nngbinwpub 101cd02 QL hwn 2300 500 1150.0
33651243/501 wwlythinwputi 101cdO1 9c huwtn 2800 400 1120.0
33651247/501 tuhpniphght 101db03 a< huwtn 100 0.0
33651247/502 Lwhpniphght 101db03 e hwn 18500 100 1850.0
33651248/501 opuwihwjwwnht [01xa03 Gl hwwn 22500 400 9000.0
33651249/501 Jhtnpbipht 101ca04 q< huwtn 50 0.0
33691280/501 ghuwwinht 1 dg/d| 50 ) ac A 4800 500 2400.0
33691320/501 dawnnunpbpuwn 500 da/u) 9L hwtn 4200 50 210.0
wynuihuhnudh hhnpopuhn +
33611110/502 dwqubghnuwih hhnpopuhn a02aa04 9L hwn 50 0.0
a02ab01 g04bx01
33611180/501 [wlnnyng a06adii Qe huwn 1361.23 50 68.1
33611310/501 huuniyhu 9L hwwn 30 0.0
33611350/501 ”‘F““”“phwf""a’;’]ﬁg‘fdoa i 4< hun 50.3 15,000 7545
33621100/501 hbwwpht bwwnphnud b01ab01, c05ba03, ac i =0 a
sO1xal4
ErehippndhanywiGphwliwn,
33621300/501  |$bunpwpphinw), wnubinwiht wlwunituh qc hwwn 200 0.0
inin NOSCM
33631260/501 jnn. DOBAGO3 < hwin 100 0.0
33631460/501 “puwwlpbung DO3AX03,RO1AX10 Q< hwtn 500 0.0
33661117/501 Yuwinywfuninh huuny NOSCMO09 S huwin 27052 1,000 2703.2
33671135/501 Yuyighnuwh pinphn. BO5XA07 S hwwn 44.05 250 1.0
dwqubighndh uny$win a06ad04,

S a]kc%?,qt.)hOSx:DS, (Lj?hx[)& v04cc02 i i i e
33691176/501 wj| nbinnpwp Sl hwn 850 0.0
33691176/502 wij| nEnnpwip S5 hwtn 5795 300 1738.5
33691176/503 wy| nbinnpwjp S hwtn 1,000 0.0
336912107501 uinpndwuehu 4-COTACOT S hwn 49.22 50 05
33651227/503 nwlwppwghu 101ax04 9 hwwn 0 50 0.0
33651230/503 nopunnniphght [01db01 e hwwn 11000 600 6600.0
33651231/502 Ewnuynghny 101cb01 q< hun 7200 300 2160.0
33651232/502 Lwppnuywunhtu 101xa02 9< hwn 22314.29 350 7810.0
33651237/501 Jhulphutnpt 101ca02 9 huitn 100 0.0
33651238/503 ghlin$nupwidhn 101aa0] 9< huwin 1000 0.0
33651238/505 ghlin$nudwihn 1012201 G< huwin 2000 0.0
33651242/502 nngGwnwpubi 101cd02 Q< hwtn 20000 600 12000.0
33651243/502 wwyjhiwpuby 101cd0] 9< huwun 27500 600 16500.0
33651247/503 twhpntehght 101db03 9< huwitn 200 0.0
33651247/506 twhpniphght 101db03 a< huwitn 14400 100 1440.0
33651248/502 opuwihwwwnhu [01xa03 q< hwin 12633.33 600 7580.0
33651249/502 yhunptypht 101ca04 8¢ huwtn 100 0.0
33691280/502 ghuwunht 1 dg/d; 50 4 9< huwin 4642.8 700 3250.0
33691320/503 dtiinnunplipuwn 500 dg/dy < hwwn 50 0.0
33691176/504 wy| nbnnpwp Qg huwn 1500 1000 1500.0
33651230/507 nopunnniphght 101db01 9< hwwn 2500 200 500.0
33661110/501 han$nipwl n01ab06 4L hwtn 400 0.0
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33661112/501 wpnwnpn| n0lax10 qC hwin 1500 0.0
33661114/501 plunwh) n01ah01, n02ab03 < hwun 4000 0.0
33661115/501 pnuyhywlwihu n01bb01 Qg hwn 700 0.0
33691176/505 wy nbnnpuwjp G hwwn 50 0.0
npwdwnng (npwdwnnih hhRpnpiaphn)-
33691226/501
NO2AX0D G< hwn 1000 0.0
33651227/505 nuwlwppwaht 101ax04 q< hwn 100 0.0
33651230/510 nopunnniphght 101db01 QL hwtn 1200 0.0
33651231/503 Einnwynghn 101cb01 G4 hwn 600 0.0
33651232/505 Ywppnwwinht 101xa02 Q< hwtn 600 0.0
33651237/502 Uhulyphuinht 101ca02 Q< hwn 100 0.0
33651238/507 ghyin$nupwdhn 101aa01 QL hwtn 1000 0.0
33651238/508 ghyin$nudpwihn 101aa01 BE hwn 2000 0.0
33651242/503 nngbiinwpuby 101cd02 9 hwn 100 0.0
33651242/504 nnglivnwputr) 101cd02 9 hwtn 100 0.0
33651243/503 wwyihwnwpuby 101cd01 Q< hwn 1200 0.0
33651243/504 Wwyhunwputi 101cd01 G hwtn 100 0.0
33651247/507 Lwhpniphght 101db03 9< hwwn 200 0.0
33651247/508 Ewhpniphght 101db03 < huwtn 500 0.0
33651248/503 opuwhwjwwnht 101xa03 Q< hwn 200 0.0
33651249/504 Yhunplpht 101ca04 qC hwwn 100 0.0
33691280/503 ghuwwwnht T dg/d; 50 4 Q< hwitn 500 0.0
ehdpwlul ynyabp 0.0
[wpnpwinp wqnwnyabn
33691420/579 < J 216000 1 2160.0
i (nbwabtuntin) puigdwlinduntbun e siog 2
[WpnpWwnnp wgnuwiunietip
1420 G J 216000 10 2160.0
i (nEwabUwnutin) pugdwlndwntbun i
lwpnpwiinnp wqnuwgnysan
1 81 < d 156000 15 2340.0
iy (nbwgblnubp) pwodwlndwnubuwn g
JWpnnwwnnp wgnwunyabp
23 20/582 9L wqy 102000 1 102.0
o (nbwigbitntitn) pwaUwlindunbbin iniway
[WpNpWnnp wqnwjniyebp
33691420/583 q< wqd 156000 2 312.0
/ (nbwabtntbn) pwgdwlndwntblin o
[wpnpwiwnnn wgnwnipbn
/ 9< U 67800 1 67.8
il [l TR . e i
[WRpnpwwnnp wgnwunyetip a< % 114300 1 14.3
SRS (nBwgblnubn) pwgdwlhndwnubun Ay
LWpNpWwnp wanwjnyetn qc d 107400 1 107.4
SIBANRL0N (nGwgbunutin) pwgdwlndwnubln nblyun
[wpnpwwnnp wanwunyabp
14 7 < wgu 84000 1 84.0
i 2% (nGwablwnutin) pwgdwbndwnubilin s
|wpnpwwninp wqnwunyatin
1420/588 QL wlwqd 90000 2 180.0
RIS | okl e [
|WRNnWWNN wgnwnipbp
i QG wlwqu 111000 1 11.0
S3a9k0/500 (nbwablwnubn) pwgdwlndwnubl; il
lwpnpwwnp wgnwjnystn qc sellirient 84000 i 84.0
33691420/590 it il ot B i Inwluwiq
[Wpnpwnnn wgnwunpbn qc i if 198000 3 396.0
i il TP R [iieng
s i G ac whwad | 156000 ! 156.0
i il B I e o piin
[WpNpwnp wgnuilniebin ac J 102000 : 102.0
33691420/593 (nbwabnubn) pwadwlndwnubuwn e
[wpnpwinnp wanwunyatn
4 QL wlwqd 78000 1 78.0
HEGRHRI (nBwgblwnubn) pwgdwyndwnubun tnwuiq
[Wpnpwwnnp wgnujniebn ac i 216000 2 432.0
Saiel4ints (nbwabUnubn) pwgdwlndwnubun g
[wpnpwwnnp wgnwnyabip ac i o 219000 3 657.0
33691420/596 (nBwabuinubn) puwgdwlndwnlbuwn jpristeg
[WRNpWWNP Wgnuwniebnp ac e 138000 3 414.0
i (nbwablnubn) puwgdwlndwntbuwn I
[WRNpWWND Wgnwujnystp a¢ paskjuigd 156000 1 156.0

20| 33691420/598

(nBwgbuwnubn) pwgdwyndwnubuw
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22

24

26

27

29
30

31

33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54

[WRNpWnnD wqnwjnwetn

33691420599 | | SEIT e e dulpduntie a¢ pwhwqd | 156000 156.0
33691420/600 (mﬂﬁ":ﬁ;’r‘:zL‘;’;‘;‘;“%Szggbm 9¢ (nwhwad 141000 141.0
wpn n
33691420/601 mhu}qlfu;‘;‘;)r;r;*g:‘%r{':ifggm 9¢ rwliwgd | 108000 216.0
n
S I O N R I
wpn wmnnp w
33691420/603 (nhujalfhl:t:hn) Zw;‘gﬁu :‘T;‘I:QE e a¢ pwlwqd 126000 378.0
33691420/604 fnbu}fgﬂfxr;rgl?:l;:ﬁngbum 9 Inwlwqd 216000 216.0
n
33691420/605 {nbuj;”;ﬁ;fh“;)”wggrﬁg‘zggmm 9¢ pwluqd | 78000 78.0
n
i (nhu}:t:n;?t;:?r;xgiﬁﬁggbnm i Pt S0 ki
n unn win
33691420/607 mbu};‘fuﬁbm ';u”j;"‘gwla:l d‘zng >4 9¢ pwhwqd | 108000 108.0
oren |, Semeiants T | v | wom
33691420/609 mbu}:‘;ﬁ”ﬂﬁ;’;';u‘:‘j;‘fta:gﬁggmm 4< Inwlwqd 102000 102.0
wpn n
33691420/610 {nhufcx;mfwr;; )’;jﬁ:‘ﬁfg{“bbm 9¢ Pwywad | 108000 216.0
33691420/611 (nbJfﬁﬁﬂ?&?lﬁﬁzﬁ%&m G¢ Inwlwgyd 102000 102.0
wpn n
THEeY | nbu;lqt:m::t;] 23333% pjwr:izgﬂbnm o Flspel | 120008 e
336914206613 | J:EJ&?;}?ZE&;‘E%&”SEEWW 9< Pwiwad | 156000 156.0
33691420614 | J:’EU”SL“;;T’;;‘?;‘L‘:’%;'&‘ZEEWm G¢ Inwlwqd 141000 141.0
3691200615 | L:::ng';’;:‘jm ﬂ:m‘:mm 4c pwhwad | 156000 156.0
33691420/616 (nbu}:‘gu”ﬁgg’f;:’gmi'ﬁ:ghm 9¢ ruwhwad | 276000 276.0
33691420/617 (nhJ;“;;ﬂ:gii:gﬁ:ﬁ:gmm 9¢ puwlwqd | 108000 108.0
33691420/618 (nhu}j;;u::‘;;";ﬁg;”géﬁggbum 9¢ pwlwqd | 135000 135.0
33691420/619 (nbu}:‘g;g:;?’;;“;&‘ﬁgi’;ﬁggbum ac nwhwgd | 216000 216.0
33691420/620 [anng;:;?lﬁ;g:ﬁiﬂngEUm 9¢ iwljwgd 156000 156.0
33691420/621 rnhu}szl?ur:s;r]";uuﬁ?ﬁui?jﬁggbnm 9¢ (nwlwgd 78000 78.0
o062 | u}:‘gﬁ;ﬁ?’;;‘;ﬁﬁmnhm ac pulwed | 165000 165.0
e It O N I
336914200624 | ld:;;u:uw;';i :J:[E:Ju;?znghhm q< puiljwgd 216000 216.0
33691420/625 mbﬁ‘:ﬂ;ﬁ:’”ﬂ;”j;&“:‘:&fggwm 9¢ IPuilwqd 93000 93.0
33691420/626 (nti‘{fﬁ;?&’;iﬁﬁ{:‘i’;ﬁ:&hm 3< Inwlway 186000 186.0
e I e R
33691420/628 mhﬁ;:‘;:g)";;“;‘ﬁ:’:;”:ﬁgbbm 9¢ Inwlwqd 138000 138.0
s qnuﬁfﬂmwﬂﬂﬂf:ﬂm ol ipkitima || e o
33691420/630 mhﬁ;{;‘;m’;ﬁgﬁs’:&ﬁzbbm 9 nwhwqd | 198000 198.0
33691420/631 (nbbji‘tf;‘;?;‘;')‘lﬂgﬁiﬁ:ﬂmm 9¢ pwlwqd | 2034000 2034.0
33691420/632 BUPTIRGLARN G UG q¢ nwlwqd | 2034000 2034.0
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wpnpwwnnp wgnwungakn
1422/52 %< 10000 3 30.0
oS (nbwabUnubp) thnoh Ywd gpwlinyubp e
wpnpwinnn wgnwnyetp ac il 16500 24 396.0
BestiiEa (nbwgbuwnubin) pwadwlndwnubuwn e
|{WwpnpwwnD Wanwjntin
1 < wlwgu 38000 27 1026.0
e (nbwabuwntbn) pwadwlndwntbuwn L .
[Wpnpwnnn wqgnwunyatp
G waqu 29000 2 58.0
el b (nbwgblntn) puqdwyndyntbin uljuq
LR LG 9 wljwqy 69000 3 207.0
SEMIBTiD (nBwgbunutin) pwadwyndwnubuwn )
|Wwpnpunnp wgrwunyetn
/ G wlwgyd 31490 3 94.5
st (nbusablunbon) swgdunurtiun i s
[WpnnWnNn wqnwniztp 9
1423/727 9L wlwqy 153080 3 459.
Y (nBwgbuwntubp) pwadwbndwnubn Inwuwg
A i U s 9< whwqd 31490 1 315
33691423/728 (nbuabtutbn) pugdubnduntibin [wyug
33691423/729 BRI SRS 9¢ pwhwad | 86000 3 258.0
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[WpNPWWNND wgnwujnistn

33691423/730
51 (nbwablnlbin) pwadwbndynubim I e / M ) = ‘ g 31.5
lWpnpuinnn wanwiynuetn ’ r
33691423/731
59 BT o T 9¢ huwtn 18998.4 25 475.0
[WRNPWND wgnuwbnystn
33691423/732 h
53 b ) e e s 9¢ win 18333 132 24200 |
wpnpwnnp wqnwniyetip
3691423/733 h 4 1957,
54|33691423773 (nbwabbnbibn) pwgdwlndwntibln " i’ o b jiiim
55 [38431700/659 FARTpUsnnphush huranglitibn — Q< hittien 0 1600 0.0
S Wwnwagwubn
56(38431700/660 PUPRpI i = a< huwin 0 3400 0.0
wWwnwgwubin
38431700/661 (pnnuitnnnhuih Luipnghsb - 9¢ i 0 6 0.0
57 wwnwawubn
38431700/662 tapnusnnphuyh Yuipnghstip — G¢ hain 0 16 0.0
58 Wwnwgwbp
24111190/1 wlluwppnt qug uu fu.d 594 222.22 132.0
3314112971 nhuwl uu hwn 115 30000 345.0
33691162/610 BSERfSREaR Weatynisi 9< fikish 213000 i 213.0
(ntwablinutn)
33691162/611 ERILARR Wiy Qg hun 388500 1 3885
(nGwabUwnltin)
33691162/612 (WipPWAAR WqnUystn Q¢ hustn 23520 2 47.0
(nGwablwnubp)
33691162/613 i e ac hwn 350000 2 700.0
(nGwgblwnutn)
33691162/614 e 9¢ b 159000 ! 159.0
(nbwabUinubn)
(RNRUIAND Wanwlynystin ¢ i 252000 i 252.0
33691162/615 A o
33691162/616 RHPRECARNY W 9¢ hwn 159000 1 159.0
(nEwgbuwnubn)
33691162/617 BURNPMATIN wiqrynye by 9¢ huan 93000 1 93.0
(nEwabuwnutn)
LpApuRnD Wanuibinyabn 9¢ fatieh 153000 i 153.0
33691162/618 B
33691162/619 S RSTI E 9< husn 228000 1 228.0
(nGwablwnutn)
33691162/620 LHpnNLLAND Wqnwlnyatn ¢ - 189000 ! 189.0
(ntiwabuwnutip)
33691162/621 L e 9¢ huwitn 129000 1 129.0
(nGwabuwnutin)
33691162/622 BUpRputann wanulmpkn 9< hwin 96000 i 96.0
(nbwgblUwnubn)
33691162/623 BUPApERRI S s qc huwin 102000 1 102.0
(nbwabuwnubp)
33691162/624 USRARRRRDR lemaggpap ac huwin 388500 i 388.5
(nbwablinutn)
lWwpnpwiinnp wanwnipbnp ac M 162000 1 162.0
33691162/625 (nbwablintibn)
LpNPWINP wqnuiljnyzbn 9¢ ik 171000 i 171.0
33691162/626 eI
(pAnwnnn wanwljnistin 9¢ Hiige 117000 i 117.0
33691162/627 Al
lWRnpwn Wgnwibnyelin 9¢ ik 123000 | 123.0
33691162/628 PR i
[WRNpWWNND wgnwjniyabip qc¢ bt 138000 1 138.0
33691162/629 st b
(RFap bR Wb q¢ hun 90000 1 90.0
33691162/630 P
(pnpunnn wqnuwjniebn 9c hin 135000 1 135.0
33691162/631 L
i et e e ac huwin 756000 1 756.0
33691162/632 i
[WRnnWnN Wwanulynystn 9¢ b 168000 i 168.0
e (nbiwgbuwnubn)
R e L 9¢ huin 129000 ! 129.0
33691162/634 Ikt i
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33691162/635

[WRNPWWIND wgnwljnyetn ,

(nbiwgblunltip) e ke , Pa0eng ] ‘ 300.0
33691162/636 l IWRnpWIND wonwiynyebn )
(nbwablinttn) e huwin 147000 1 147.0
33691162/637 LURNRLAND wanuitynieln ’
[ [nbwgbuunutn) s huwn 228000 1 228.0
Ujnietip
33691162/638 BT AR gy
(ntwablntisn) b husin 240000 1 240.0
b
33691162/639 {Wpnpuiann wonutynieBn
(nbwabtinubn) s huwitn 124000 15 1860.0
Lpnpwnnp wanwyniebn
33691162/640
(nbwaltintt) e huiin 920 500 460.0
b
33691162/641 (WRRNWIND wqnwlniebn
g (nbwgblinutin) i oy a0
[WpnpwwND wqnwujnyebn
33691162/642
/ (nbwabtnuty) S hwtn 1460 100 146.0
LWpnpWnND wgnwjnietn
33691162/64
69 643 P < hwn 1 0.0
WprnWwwnp wqnwynyetip
33691162/644
(nbwabnutin) e i 340 0.0
33691162/645 BB EroN R ey a¢ hustn 500 0.0
(nbwabuinubp)
Wpnpwwnnp wanwlyniptp
33691162/646 Qg h
(nbuig bt = iy e
33691162/647 PR AR a< huwitn 8 0.0
(nbwgblnltin)
[WRApWWIND wqnwujnyetn
33691162/648
/ (nbwabluntib) 9 hwin 4 0.0
wepnpwinnp wqnwujngelp
4 i
33691162/649 (el Q< hwtn 4 0.0
33691162/650 FOECYSra i iy 9¢ huin 4 0.0
(nbwgbiinltin)
33691162/651 Wi ac huan 4 0.0
(ntwgbuwnubin)
33691162/652 HUPNTRMIG SERER AT 9< huwitn 4 0.0
(nbwgblinutin)
G
33691162/653 WIpHERA g Sy iy %< huwn 1000 0.0
{(nbwablwnutin)
33141212/524 pdolwlwl wy) uniabip q< hwn 10000 0.0
Cwdwluwpgswjht b wuwintbbwhwinfwb uwppuiynpnudtp b odwinwly ujniptp, Ellnpuwinbiuuhlyuw,
74630.8
Ybbgunught uwppwynpnuiubip
31411100/1 wilwihwliwy dwpunyngutp Uu hwin 11500 8 92.0
324213001 quitgwihl pudwwnuwn uu hwin 38000 2 76.0
32231700/1 nwghuwlibn uu huwin 120000 6 720.0
1| 30232110/502 Lwabpwiht nwhsubin Q< hwn 756690 1 7967
nwnwny ujwywnwy, wnwg nnuhh,
nuwnwny ujwywnwl, wnwig nnuph,
5| 30234400/503 e 4< huitn 69.96 10000 699.6
6| 30237113/503 Lnubilwinp (4gnpnutp) G hwn 30 200 6.0
7| 30237135/501 guigwih Uhghiptiuh puwinmtn 9< huitn 5000 & 25.0
9| 31681100/512 Elhunpwlwl wwpwquittp < hwin 5900 5 295
10| 32421100/507 guiugwiht dwindutitip QL Ubinp 600 25 15.0
11| 32421300/503 qulgwiht pwdwlwpwp S huwn 3600 5 18.0
| | 30131220/501_| prewnpwdbtinh hupihs dbpbuwtbn q< huwn 170000 1 170.0
4] 32324900/506 hBnnwinwgnygutp Q< hwwn 230000 7 1610.0
5 | 39221290/502 phuhy q< huwitn 7000 40 280.0
6| 39711140/503 Ylbigwnuwjht uwntwpwliibn Qg hwin 55000 30 1650.0
1| 30211220/508 ubnwuh hwdwlwpghsutp 9L hwin 180000 10 1800.0
2 | 30232231/504 hwdwlwipgsh Ynain uywywnuwly S hwwn 45600 3 136.8
3 | 30232330/503 ip ujwywnwlubp (dvd) Ywpnwgnn b (uf  9<¢ hwn 8000 ] 40.0
4 | 30237113/505 Ynubywnnp (4gnpnutp) QL hwin 56 300 16.8
S | 30237120/503 hwdwlwngswiht wnpinbip S hwin 7800 2 39.0
6 | 30237490/507 hwdwlwipgswiht dntihunnp QL hwwn 58800 10 588.0
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7| s0mssnosos "t uwne puqlupnbichntug, 4,151 o hun 105990 10 1059.9
Eo/nnwil wnwanugwu
8 | 31151120/505 wluwhwl uungdwl wnpnippubip .o hwn 7500 5 375
9 [ 35121320/505 wuyunwignipjwl wbuwlughlubip Gild hwn 30000 7 150.0
10| 35121320/506 wuynwlgniw nbuwlughyubp 9L hwtn 28000 5 140.0
1| 42414700/501 Ybpbywlutn q< huwin 13995000 2 27990.0
2 | 42414700/502 Ybpbwyutbp 9< hwn 18000000 2 36000.0
1| 30232231/506 hwdwlwpgsh Ynown uluywnwy QL hwwn 13500 <) 67.5
2 | 30237411/503 dyuply, hwdwlwpgswiht, jwpny < huwn 1920 20 38.4
3 | 30237412/502 dluhl, hwdwywpgswiht, wujwnp gL hwtn 3840 5 19.2
4 | 31211260/502 pwofuhs guwlgh phnfuwltpuhs S< hwn 17500 4 70.0
5 | 31441000/502 dwpnyng, AAA inbuwlh Q< huwin 345 400 138.0
7 | 32324900/508 hEnnwnwgnygutip 9L hwtn 245000 15 3675.0
8 | 32324900/509 htnnwwnwgnygutp QL hwwn 79000 30 2370.0
9 | 32421300/502 guiugw)ht pwdwwpwn S< huwin 14960 15 224 .4
10 [ 32551170/503 wljwn hnwfunuubp 9L huwtn 15680 15 235.2
1] 32561200/501 dwniutbip owwhlwlwl Juwupwpebihg g dbwnp 277.78 180 50.0
12 | 38621100/501  |uppwynpnuwiubp owywnhjwlywy dwupweblf < hwtn 5000 10 50.0
| 39221100/502 funhwlinguijhls uwpptp ac hwn 10 0.0
14 | 39221220/501 hwgnwinp snpwlingubip L hwn 10 0.0
15 | 39221290/503 rhjupl QL hwun 4200 50 210.0
16 | 39711110/501 uwnlwpwl-uwngwpwlibp QL hwin 59000 30 1770.0
17 | 39711290/502 Jdhypnuwihpwiht Junwpwlbp Q& huwin 40000 20 800.0
18 39714210/501 onnpwlhs, 9000 BTU 9L huwin 119160 10 1191.6
10 | 42711170/501 [wgph dhpGLwlbp ac huwtn 10 0.0
20 [ 42711170/503 (Ywgph Ubptuwubip QL hwin 146400 5 732.0
21| 42711190/501 snpuwgduwit Ubpblwitbp q< hwn 28000 10 280.0
22 | 42911150/501 onwihnfudwu uwppwynpnwubp G hwn 28000 10 280.0
32551170N wuwp hGnwfunuubip Ul hwn 25000 2 110.0
31151120/507 wlfuwthwl ubnigdwl wnpniutn < huwin 1
38651200/501 wnnjywnputbp Qg hwin 1
Stunbuwlwl, uwiuhhgqbuhy, |Jwgph dhengubp b zhuwpwpwljwt wypwipubp 34652.8
3922434211 wnpwnlyn, dawnwnjuw Uu hwin 2800 65 182000
31681630/1 | balunpwlwy wuywhnyhy, bnwbwg, 63U UL hwitn 18000 1 18.0
4442340011 gniguuwlubp B hwpwyhg wnwpluwutp uu huwin 19200 2 38.4
4442340072 | gnigwlwlubip b hwpwlhg wnwpywtbn uu hwwn 8400 1 8.4
1| 18421130/502 abnungutin < anyg 144 1000 144.0
2| 18421130/503 abnungubn ac anyg 122.4 1000 122.4
3| 18421130/504 dbinungubip 5 d qnyqg 126 200 25.2
4| 19641000/506 | wnihtphiEuwht wwpl, wnph hwdwp 3¢ huwtn 5.52 30000 165.6
S| 19641000/507 | wnihtphifuwht wwpl, wnph hwdwp G< huwn 8.496 10000 85.0
6| 19641000/508 wnihkrhiEuwihu wwpl, wnph hwdwp Qe hwn 25.92 30000 777.6
7| 24451141/503 whutnwhwuhs hbnnty Unyabin Q€ thuip 280 100 28.0
8| 33141118/502 wudbinnghlyubip Q< hwwn 255 2000 510.0
g| 33711210/504 unqwuﬁg};} :;";]‘;;‘;':”M“’U 9< huwn 132 10000 1320.0
10| 33761000/504 qnigupwuh pnnE, nnyntny Q< hwn 69.96 10000 699.6
11| 349214407501 'awq’"““bm;m”;rﬂb::“””‘““ 4 9< huwun 3201 200 658.2
19| 34921440/502 re“‘”‘”“““&:;w”l‘;}m‘é’:‘“wwp E 9< huwn 780 50 39.0
13| 39221410/504 wybubp 3 hwin 744 200 148.8
14| 39221410/505 wybjutp Q< hwn 879.2 150 1319
15 39221420/506 funquiiwliutin 9c huwtn 804 100 80.4
16| 39221430/504 mnquu;ﬂt:qiaﬁg et ac huwin 450 100 45.0
o sezaiupmes | PN WS 9 huwitn 1290 100 129.0
hwdwn, nbnhub
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18
19
20
21
22
23
24
25

26
27
28
29
30

3

32
33

w o —

24

25
26
27
28
29
30
31
32
33
34
35
36

39221480/503 gnigqupwlp junquitiwlubp Qe hwn 358.8 100 358
39221490/503 uwntugubp q< huwtn 53.4 1000 53.4
39513200/502 penRrb wuatnngply, Gphtpwn F< hwn 102 7000 714.0
39711330/502 wwnnypubip q< hwiwn 72 300 21.6
39831210/503 uwwuph Yugdwu nbnbpgbunutp e hwwn 355 200 71.0
39831242/502 | [Jwgph thnph dbnpny [Jwlwint hwdwp QL Upingpuwd 550 200 110.0
39831243/503 Jwgph thn2h wynndwin 4 Uhingpwd 375 300 125
39831245/504 ofiwn, htinndy QL (hup 171.84 5000 859.2
39831247/507 wiunwhwbnn hﬁf’[ﬂlu‘ uwbhwbgnygh S thwp 31.6 2000 63.2
hwdwn (funwnys)
39831277/501 ofiwnh wywnndwin nhuwbuubpubp Q< hwwn 1800 80 144.0
39831280/503 wuwwlyh dwppbnt dheng QL {hwnp 65 250 16.3
39831281/503 wwwyh dwppdwu wp S hwn 230.4 1500 345.6
39831283/503 hwinwyh Ywgdwl (we Q< hwn 299.2 1500 448.8
39835000/507 | Ml thupnbint Bnn, uuinnduns, ¢ hwn 900 200 180.0
thujn|w
39835000/508 | V"Wl wenbint ann, wjuiuindwut, 9¢ huwin 3600 50 180.0
thuwjunjw
44171100/506 uwlhyutp (2huwpwpnuwi) < pd 3100 1000 3100.0
14211100/501 wywqg Ba fud 8571.4286 7 60.0
24911900/501 uuihlih unuptia < Yhingpwd 55.6 15000 834.0
24951130/503 uphlhlynuli puniyubip e Yhingpwd 3360 25 84.0
24951510/503 h““*““‘ﬁ’;f;gj:{fﬁ‘;m:‘4‘“‘”" a¢ Wisaaus 600 200 120.0
31211180/51 wytnndwin wugunhsubip e huwin 8388 10 83.9
31211180/512 wytnndwin wugwinpsubn 9L hwn 16800 10 168.0
31211180/513 wyinndwin wugwwnhsubn 2 7 hwin 7000 10 70.0
31221240/539 wwnnunwywynp ubndwlutp S hwn 175 200 35.0
31221240/540 wuinnunwywynp utndwyutip 9L hwwn 175 200 35.0
31531400/503 ouih QL hwwn 5960 30 178.8
38621300/502 hwjtth nhinnnwlwl ac huin 7500 30 225.0
39515440/503 ninuwhwjwg Ztpnwywpwgnyn a< pu 4074 200 814.8
39531600/503 hwinwywdwslnypubn 94 pd 500 0.0
39714100/506 onwthnfuhsubip G hwn 6000 20 120.0
39831260/503 o6uwnh tnwipw Q< huwn 7152 50 357.6
42511124/505 onwthnhsuGnh Gwnwawnbn e hwtn 2500 40 100.0
42511124/506 onwihnhsutph dwnwawpknp Q< hwtn 2856 50 142.8
44111200/501 gbdbun G<L Uhingpwd 49.68 10000 496.8
44111400/501 Yuwunyh wnwuwnwn Q< pd 1884 200 376.8
44111412/503 ubpy, 2htwpwpwlwl Q< Yhinanuwd 3108 10 311
44111414/501 ubpl' jwinbpuwhu Q< Uhngpwd 342 1000 342.0
44111414/503 ubipl’ jwwnbpuwhtu Q< Ypngpwd 399 1000 399.0
44111421/502 gniiwljnie (Ynkn) QL Uhngpwd 2820 40 112.8
44111710/501  [uwihl, Yepwdhywlwl, hwwnwbh hwdwn qc pd 3144 1000 3144.0
441M720/501  {uwihl, Epwdhlulwl, ywnbph hwdwp <L pu 2478 1000 2478.0
44112140/501 |wdhUwin 9 pu 5400 150 810.0
44112560/527 opwinwn hwdwlwpgh Ujnipap K< hwwn 342 100 342
44112560/528 opwinwn hwdwlwpgh Ujnatp a4 huwwn 90 200 18.0
44112560/529 opwinwp hwdwywpgh Uniptip 9L huwin 88 300 26.4
44112560/530 onwinwp hwdwlwpgh Uniebn 9L hwwn 1.2 10000 12.0
44112560/531 gnwinwin hwidwlywpgh ujniyebp G< hwtn 530 50 26.5
44112560/532 onwinwn hwidwlywnpgh Ujnipbn e hwwn 640 50 32.0
44112560/533 onwtnwp hwdwlwpgh Unietip Q<L hwn 1080 50 54.0
44163280/501 funnnywywihu wwpwuputp QL hwin 6400 30 192.0
44171100/501 uwhyubp (2hLwpwpnue)w) QL pd 1300 500 650.0
44171200/501 rtpebip (2huwpwpnieiwu) Q< pd 6000 6 36.0
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37
38
29
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54

~N O bW N =

44192400/501 qwyg, ghwuuwjhu 9L nnUUW 34400 3 103.2
44221140/503 nnutp Q< pu 26400 150 3960.0
44221140/504 nnubn Q< pu 36000 100 3600.0
44221171/503 nnutiph hwdwp uwhdwbwhwyndubip QL hwwn 492 100 49.2
44411110/503 oph dnpwy, 1 hwywuny 3L huwtn 3720 50 186.0
44411110/504 onh dnpwl, 1 hwlwng S hwn 3480 50 174.0
44411300/512 (Jwgwpwubp Q<L hwwn 17040 5 85.2
44411300/513 Jwgwinuiuutp GL huwwn 32500 6 195.0
44411710/503 uwuhwlgnygh tunwinbintp Gl hwtn 24720 10 247.2
44511220/510 nwpwinbiuwl d6nph gnpdhpubip QL hwtn 18000 1 18.0
44511220/511 wnwpwnbuwl dnph gnpdhpubip 9 hwn 36000 1 36.0
44521121/503 nhwu hwlwuh dhonly QL hwn 1062 200 212.4
44521230/507 wdpwlubp 9L hwwn 6.6 10000 66.0
44621150/501 opwnwpwgnighs Ywpuwlbp QL hwwn 29000 10 290.0
44921100/502 ghwu, uwhuwy S Yhingpwd 66.96 5000 334.8
44921500/502 dtithwdwdhly' ghwuwihu Q< Yhngpwd 117.36 5000 586.8
45221143/504 dbinwnuwlwu Ypnn Ynuunpniyghwubip Q< dbunp 102 1000 102.0
45221143/505 dhinwnwlwu Ynnn Ynuuwnpniyghwbp G dbwp 282.96 500 141.5
4214115011 pwthwuhdutn — thnywupyutp uu hwn 7000 2 21.0
317112501 Yuwthnypubp — funnnywlubp uu hwwn 15000 5 75,0
4291115011 onwihnfudwl uwppwinpnuiubp uu hwwn 75,000 1 75.0
31521500/506 wnwutnwnh nuwynpdwl uwpplp Q< hwn 4,488 500 22440
44111400/502 Yufundp wnwunwn QL pu 0 2000 0.0
44111400/502 Ywunyh wnwuwnwn QL pd 2,330 3000 6990.0
31221240/541 wunnunwlwynp ubndwlyubp GL hwtn 2 30000 66.0
31221240/542 winnunwywynp ubndwyubp G hwtn 2 30000 57.0
14711100/501 bplwe 9L nnUuW 750000 Ui 17475.0
14711100/502 Gnywpe Q< nnUlw 69000 4.9 338.1
14711100/503 plywe QL nntuw 69000 B 276.0
44112480/501 phwnnu 9< fud 39742.6 202 8028.0
44163360/501 funnnywltbph quiuwqul wdpwlubn 9< hwn 600 5370 3222.0
44163360/502 funnnywyubph quuwqwu wdpwuubn q< hwwn 11520 460 52992
31521500/507 wnwunwnh (nuwdnpdwl vwppbn Q<L hwin 2848.8 500 1424 .4
14211100/503 wywq G fud 0 50 0
24911200/503 unuhtd, tdnyuhw QL lihingpwd 0 50 0
24911300/504 unuhud' htinniy q< Yhingpwd 0 50 0
24911500/504 unupud (wkpngny) QL hwwn 0 150 0
24911900/505 uwlhyh unupd 9L Ypnapwd 0 100,000 0
24951130/504 uhthyntts puntyulap QL Yhingpwd 0 100 0
24951130/505 uhhynuti puniyutip < Ypngpuwd 0 55 0
30192230/506 ulns' BpLYnndwh unubdywsd 9L huwtn 0 150 0
30192230/507 ulyny’ GplYnndwlih unutdywd qL hwwn 0 150 0
30192231/509 ulyng qc huwwn 0 150 0
30192231/510 uyng Q< hwn 0 150 0
30192231/51 ulyng Q< huwin 0 150 0
31211180/514 wynndwwn wigwinhsulbip G hwin 0 500 0
31211180/515 wywnndwwn wigwwnhsubip Qg hwwn 0 500 0
31211180/516 wynndwn wugwinhsubip Q< hwwn 0 500 0
31211221/501 wlguinhsubip Spe huwn 0 500 0
31211221/502 wugwnhsutip S< hwin 0 500 0
31211221/513 wugwinhsubip QL hwn 0 1,000 0
31211221/514 wugwinhsubin S hwwn 0 1,000 0
31221240/545 winnunwlwynp ubindwyukp S hwwn 0 20,000 0
31221240/546 wnnunwlwynp ubnduyusp 9z hwin 0 20,000 0
31221240/547 wnnunwlwynp ubndwlutin Q< hwn 0 20,000 0
31221240/548 wnnunwywynp utndwyutip S< huwn 0 20,000 0
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31221240/549 wnnunwywynp ubndwlyubp q< hwwn 0 20,000 0
31221240/550 wwnunwlwydnp ubndwlubp 2 hwwn 0 20,000 0
31221240/551 wnnunwywynp ubindwlyubp Q< hwwn 0 20,000 0
31221240/552 wwnnunwlwydnp ubndwlubp 9L hwin 0 20,000 0
31221240/553 wunnunwwnp ubndwlubp G hwn 0 30,000 0
31221240/554 wnnunwlywynp ubndwlubp Q< hwin 0 20,000 0
31221240/555 winnunwlwynp ubndwyubp Q< hwn 0 50,000 0
31221240/556 wwnnunwywynp ubndulubp e hwwn 0 30,000 0
31221240/557 winnunwlwynp ubndwlubp QL hwin 0 15,000 0
31221241/501 rynuyb-wuinnunwly e hwn 0 15,000 0
31221241/514 rynuybil-uuinnunuly Q< hwn 0 10,000 0
31221241/515 ninuyb-wunnunwly Q< hwitn 0 10,000 0
31221241/516 nynLwyb-wunnunwy < hwwn 0 5,000 0
31221241/517 rynuyB-wwnunwly G hwn 0 10,000 0
31221241/518 nynuyb-uunnunwl 9L hwn 0 20,000 0
31321251/501 hwnnpnwjwp MNB-3 9L dbnp 0 10,000 0
31321251/502 hwnnpnw)wn MNB-3 QL dbwinp 0 10,000 0
31512210/503 dbwnwnjw hwingbuwhu jwdw 1504n L hwin 0 200 0
31512360/503 Inwwnp&wlutp 9L huwin 0 10 0
31521510/508 Yhpwhwwnwpwuh jwdwtp S hwn 0 100 0
31521510/509 Jhpwhwunwpwuh jwdwbp < hwn 0 50 0
31531100/501 ElEynpwywu jwdwtp < hwwn 0 500 0
31531100/502 ElEywnpulwt wdwbp 94 hwun 0 200 0
31531100/503 ElEyinpwywt jwdwtin QL hwwn 0 220 0
31531100/504 blEyunpwywt wdwbp S huwin 0 1,000 0
31531100/505 LlEbnpwywl jwdwtp < huwin 0 50 0
Eleywpwlwu Jupnwly' dhwp—bn,
31588100/501 tfigﬁu Enunmtd”h’_‘hn“qué:qnﬁ i 3¢ huitn 0 500 0
nnwlywt Jwprw wp—tin,
31588100/506 ttﬁig:ﬁ gnum‘td':}h‘:‘nmzqnpl e 9< huwitn 0 500 0
31568000/501 | ToHnmulpwls dunnuily Bplpshm, pug | huin 0 500 0
EFTGIRAG s B PG
31588200/502 L b A 3 hwin 0 500 0
31651400/501 dbynwhs dwuywydbuutp Q< hwwn 0 150 0
31681100/517 LlEgunpwlwt wwpwgwbn G huwn 0 30 0
31681100/518 FlEYywnpwlwl wwpwqwtbnp 9L hwtin 0 20 0
31681100/519 FlEYnpwywu wwpwgwubnp 9< huwin 0 200 0
39151220/590 Yuwhnyph dwubp QL hwn 0 400 0
39151220/591 Ywhnyph dwubip < hwn 0 500 0
44111412/504 ubpy, shuwpwpwlwu A< Yhingpuwd 0 100 0
44112810/502 | Ybpwdhlywlwu sipdwlwynu funnnywl 9L hwwun 0 10 0
44191700/501 w)| qubwqwiu zhuwpwpwlwt Unyebp G< Yhingpwd 0 100 0
44191700/508 | wj| qulwqwl 2htuwpwnwlwl unyetp Q< Upngpwd 0 10,000 0
44192620/511 Jbju dGinwnulwu a< bhingpwd 0 155 0
44192620/512 dbtu danwnuywu BG Yhingpwd 0 15 0
44192620/513 Jbfu dbinwnwlwu e Ypngpwd 0 15 0
44192620/514 Ukt deinwnuwu QL Upingpuwd 0 15 0
44192620/515 dbhu U wnwlwl 9< Yhingpuw 0 15 0
44192620/516 Ubitu dbnwnwlwu Q< Uhingpwd 0 15 0
44192620/517 dbfu dbnwnulwl ac Yhingnwd 0 15 0
yenptieay | TOOMMEEBISRIESIRED || g huitn 0 1,000 0
fwbunih/
smmigsgp | TPRuRps AR | o huitn 0 500 0
fulbiuh/
L i i q¢ huwtn 0 500 0
Juwitmb/
44221141/507 nnwb pnbwl 9L huwwn 0 500 0
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44221161/502 dtulh wynwihub nnubiph /wbwnih/ QL hwn 0 1,000 0
44311170/510 Gnwlgdwt wwpwgwubp QL hwtn 0 50 0
44322200/505 Juwinifu, biEYunpwlwi jwp Q¢ dbwp 0 500 0
44511250/502 ubndhs wpgwuubp QL hwn 0 3 0
44511343/523 quijthynu < hwun 0 50 0
44511343/524 quihlnt 9< huwtn 0 50 0
44511343/525 quihynu 9< huwitn 0 50 0
44511343/526 quihlnt 9 huatn 0 50 0
44511343/527 qujthynt Qc hwtn 0 50 0
44511343/528 qujihynu 9< hww 0 50 0
44511343/529 quijthynu B hwwn 0 50 0
44511343/530 quihynts ac hwn 0 50 0
44511343/531 quw)hynu XL hwn 0 50 0
44511343/532 quijhynu qc huwin 0 50 0
44511343/533 qw)hynu < hwwn 0 S0 0
44511343/534 qujhynt QL hwun 0 50 0
44511343/535 qujhynt < huwn 0 50 0
44511343/536 quijlhynt QL huwn 0 50 0
44511343/537 quihlynu 9< hwin 0 50 0
44511343/538 quilhlnt ¢ huwtn 0 50 0
44511343/539 quwyhynu Q<L hwn 0 50 0
44511343/540 quthynts qc hwun 0 50 0
44511343/541 quijihlynu 9< huwin 0 50 0
44511343/542 quijhlynt ac huwin 0 50 0
44511343/543 quihlntu qc hwwn 0 50 0
44511343/544 quihynt qc huwn 0 50 0
44511350/502 winnunwlwhwiutiph uwjptnp Q< huwwn 0 50 0
44511400/503 gnpdhputnh dwubp qc huwn 0 50 0
44511400/504 qnndhplibinh dwutip 9< huwtn 0 50 0
44521100/502 quitwqwt Ynnutiptp — thwlwuutin Q< hwn 0 50 0
44521120/510 nnwt thwywlubp q< hwiwn 0 30 0
44521120/91 nnwl thwlwutbp G hwtn 0 65 0
44521120/512 nnwt thwlwuttp S hwin 0 50 0
44521120/513 nnwu thwlwuubp Q<L hwwn 0 50 0
44521121/504 nnwl thwlwuh dhgndy QL hwwn 0 200 0
44521121/505 nnwu thwlwuh dhenly QL hwwn 0 50 0
44521190/505 PwlwhUGD q< huwn 0 3 0
44521190/506 pwiliwhubp 3¢ huwitn 0 3 0
44521190/507 pwuwihutn qL huwn 0 0
44621150/505 gnwnwpwgnighs Ywpuwutp q< hwwn 0 50 0
44831700/503 onhlwgunn Ujnyakip L thwp 0 150 0

3171162011 [nwwihu nhnnubp uu huin 1,000 118 118.0

09211100/ swndhsh jninbp uu (hunp 1,875 400 750.0

031212001 dwnhyubip uu hwtn 150 400 60.0
19641000/501 wnihtphibUwiht wwpy, wnph hwdwn QL huwin 20,000
19641000/509 | wnihbphibuwihl wwpy, wnph hwdwp ag hww 100
24951510/504 h“‘qblm‘:if:gf:ﬁﬂ‘mui‘:’quh qc Yhingnw 1,000
31211180/517 wiinndwin wuswwnhsubin q< huwtn 250
31211180/518 wywnndwin wugwinhsubip 9L hun 250
31211180/519 wyinndwn wlgwinhsubip FL hwin 250

31211221/515 wugwitnhsubip gL hwin 500

31211221/516 Wwgwwnhsubp ac huwtn 500
31211430/505 Elunpwywl Jwhwlwyubp QL hwtn 2

31211430/506 ElEyinpwlwt Jwhwuwyubp QL hwtn 15
31221240/558 winnunwlwynp ubindwlyubin G hwin 2,500
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31221240/559 wunuwnwwynp ubmdwyubp She hwtn 500
31221240/560 wwnnunwwdnp ubndwlubp < hwn 500
31221240/561 wunnunwywynp ubndwlutp Q< huwtn 10,000
31321251/503 hwnnprwywp MNB-3 9 dbwnp 3,000
31331192/501 Elywpulwl dwinyu’ U44S S dbwnn 10,000
biEhinpwlw wp' wnudw, pwgdwshn,
31331270/503 tl: fos ?}mf ‘2‘1?5;0 : 2'1 qu M | qg dbup 10,000
npwlwl jw w, pwqdwgpn,
31331280/501 | MLl rn}m'; ;‘:3_5’“2” wghn, | qg dtnp 5,000
31521500/509 wnwuwnwnh nuwwdnpdwy uwppbip < huwtn 400
31531400/504 owh 9L huitn 100
31681100/520 FlEYnpwlwl ywpwgqwutp Q< hwin 50
31711250/512 Ywihnypubip — funnnywlutip L hwin 200
31711250/513 Yuwthnypttip — funqnjwlyubp QL hwwn 150
31711250/514 Yuwihnypubtip — funnnywljubp < hwn 150
31711250/515 Yuwthnypubip — funnndwlubp 94 hww 150
38621300/503 hwjtih’ nhinnnuwu S< hwn 150
39221480/504 qniguwnwuh funquiuwlubp QL hwin 150
39515440/504 nunwhwjwg 2Epunwywpugnyn L pd 1,000
39531600/504 hwwnwlwdwslynypubn 9L pd 2,000
39714100/507 onwthnfuhsutip G hwin 150
39714100/508 onwihnfupsutip QL hwn 50
39714100/509 onwithnfuhsubin YL hwin 500
39831260/504 ofwnh wwpw QL hwn 150
39aasE0G/say | i VMHH WURRUINL SN, WUUAAIRAR, a¢ huwn 50
thwjnjw
42131120/502 funnnywlywowntbph thwlwuutp QL hwn 800
42131490/503 uh$nu 9L hwwn 100
42131490/504 uhdnu 9L hwuwn 100
42511124/507 onwthnhsulinh Gwnwwnbp L hwin 60
42511124/508 onwthnhsubiph Gwnwownpbn 9 hwn 50
44111200/504 gLt < Yhingpuwd 40,000
44111414/507 ubiply’ (winbipuwihu q< Yhngpwd 3,500
44111414/508 utipy' jwwnbpuwjhu < Yhingpwd 2,500
44111417/501 Lwhiwubply QL Yhingpwd 1,000
44111421/503 gniuwunye (Ynibn) G< Yhingpwu 100
44111710/504  |uwihly, YepwihYwlwl, hwnwbh hwdwp| — 9< pu 5,000
44111720/503  |uwihy, Yepwdhhulhwl, ywnbph hwdwp ohe pd 5,000
44112140/504 |wihUwtn GL pu 500
sarizss0/501 | 2 — gimngduli huntulunglnp | g 0 huwn 500
Uinualin
snsasgy | TR - PuaRn AR | o huwtn 1,500
unuyzbp
44112550/503 | 2N anzllif:;h“‘d“‘l‘“’”qh“h 9< hutn 1,000
44112550/504 opwnwn — gbnnigdwl hwdwlwpgbiph ac e 500
Ujnuelin
a4112550/505 | MU mlﬁ‘f;t;h“‘u“““‘“qbnh 9¢ hutn 500
e e L hwu 500
ujnuebn
HirBsas07 | SNRAD -~ EbR GG RUILEIRGEI. | g huitn 500
uinuptin
dassoysns | PSRN — SRUNIGOL hukdipangln ac hwtn 500
unuatin
sarasseE0e | TN - gngiul hudulpanginp | g huwn 800
uiniptin
a4112550/510 | AN 9“”’;"?1‘3:;*'“‘0‘““‘“””'["‘”“ q¢ huitn 700
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opwinwp — gEnnigdwl hwdwlwngbiph

44112550/511 Q< hwwn 700
unuetin
= hwd i
stossasty | anin — gnigli huhaisoeinl | o huitn 1,000
uinustin
- h
satassisty | SPovedn — goungiulr alalogabnl | o hun 1,000
Ujniplip
44112550/514 onuwinwn — genmgdwl hwdwlwpgbph - {aiat 1,000
inuetin
aiigssosls | S — gannginl Rushangmnl | o huitn 1,000
uniebin
satiossopsie | 2w — gmniglub hwdwlngbon | o huitn 300
Unuekin
44112550/517 gpwinwp — stinnigdwu hwdwlwpgbph ac¢ o 300
ujnusbin
= h
b || Weumen — ghungiisimaIpaEnl | - o0 huwn 300
unuyatin
= h
sy | v —goomplul kel | - g huwtn 1,000
uniphin
-9k h v
siipssnpzn | S — shanglub Gt || g huwin 1,000
uiniplin
4ati2s50/521 | AR T Qbmﬁf:;‘nhwwqmmbph a¢ huwtn 30,000
sanossosay | 2Wwn - gonngdul huilubuingtiph | o o hwin 1,000
unuabp
i | Sap = g AR | g huwn 500
Linustin
GipEEnpox | DWRn— gl D | o hwin 200
uinuatin
s h
satizsanses | S — hnnglul Rudispupetpt | g hwtn 200
ujnuetin
wssoass | wwn —glmmaguull hudilpanelng | g huitn 1,500
Uiniplin
sSSP — g Tt || hwtn 10
unuabin
44112760/502 GUntu dbrwnulwl unnnywl ac utinn 800
44163280/503 funnnywlwhu wupwupubip a< hwwn 200
44171100/502 uwihutp (2huwpwpniypjwu) g pu 200
44171100/507 uwhlutip (zhtwpuipnuejw) Q< pu 1,000
44191700/509 | wj) qulwqul phtwpwpwlwl jnwetin 9L Yhingpuwd 50
44192400/505 qwyg, ghujuwjpu Q< nnuliw 100
44221171/504 | nnutiph hwdwn uwhdwbwihwynwubp 9< hutn 100
44322200/506 Jwintfu, blGYunpwlwl jup q< dbwinp 100
44322200/507 dwinifu, blEYnpwlwl wp 9L dtnp 200
44322200/508 dwintfu, flEyunpwlwu jwp 9L dknp 200
44322200/509 duwintju, fiELnpulwu wp 9L dbwnp 1,000
44322200/510 dwinifu, flEGunpwywl jwp % dbwnp 2,000
44322200/51 dwintfu, flEYnpwywl jwp QL dbwn 2,000
44322200/512 dwntfu, blEYnpwlywl wp G dbwnp 2,000
44411110/505 oph &npwy, 1 thwlwuny gL hwin 150
44411110/506 onh dnpuwly, 1 tuluiuny 9< hwitn 150
44411300/514 Ywgwpwuubp Qe hwn 100
44411300/515 [Jwgwpwuubp G< hwwn 100
44411300/516 (Ywgupwuubp b hwiwn 50
44411710/504 uwuhwugnygh bunwunbnbip S hwn 50
44511220/512 inwipwwnbuwy denph gnpdhpubp Q< hwin 1
44511220/513 tnwpwinbuwl dtinph gnpéhpubip S hwn 1
44521120/514 nnwl thwywulbp QL hwin 100
44521120/515 nnwt thwlywuutp G huwn 100
44521170/504 Unnwbipubp 9< hwwn 15
44521170/505 Ynnubpubip Qg hwwn 15
44521170/506 ynnuybiplbp 9 huwin 15
44521230/508 wdpwyubp G huwitn 10,000
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26
27
28
29
30
31
32
33
34
35

36
37
38
39

40
4
42
43

44521230/509 wdpwlubp O, hwuwn 10,000
44521230/510 wdpuwlyubip L hwn 10,000
44811300/507 Fdwiubp — thwylp 2 1 4hingpwd 500
44811300/508 bdwubp — thwybp 9L Yyhingpuwd 500
44831200/501 guwiynuatin QL Yphngpuwd 1,000
44921100/503 qhuju, uwhuwy a< Yhinanuwd 50,000
44921500/503 Stithwdwdhly' ghwuwhl Qe Yhingpwyd 30,000
45221143/506 | dEnwnwlwu Ypnn Yntunpnyghwbp L dbwnp 2,500
45221143/507 | danwnwlwt Ypnn Ynbunpnihghwtibip L dGwn 1,000
14521171/501 hnywpwnp QL hwwn 250
14521171/502 hnlwpup 9L huwin 250
14711100/507 tnywpe 9 m
14711100/508 bplwpe 9 tnnuliw
14711100/509 tnYwpe a< Nl
24911300/505 unuhtd’ htnniy 9L Yhingnwd 300
31211180/520 wynndwwn wlgwnhsubip ac huwin 10
31211180/521 wywndwn wugwnhsubp SL hwin 20
31211180/522 wynndwin wlgwinhsubp q< huwin 15
31211180/523 wiinndwin wugwinhsulbp 9L hwn 10
31211180/524 wiinndwn wupwinhsllbin L huwn 10
31221241/519 nynub-wunnunwy QL hwn 10
31221241/520 nynuybj-winnunwly QL hwwn 2
31321251/518 hwnnprwjwp MB-3 qg Jdbunp 100
31321251/520 hwnnprwwp MNB-3 QL dbwnn 100
31321251/521 hwnnprwwp NMB-3 QL dtwnp 400
31521570/502 Jwujinbputp ac huwtn 50
31531100/506 Flayupwlywl jwdwbip 9< hwwn 200
31531100/508 biEynpwlwt jwduwbp QL hwin 200
31682180/502 Jhohts (wipdwl Juhwlwlubp Q< hwn 20
31682180/503 dheht wntwb Juhwbwlibn ac huwtn 20
31684400/501 Jupnwy G hwwn 100
31685000/501 Eupwlwt bpywpwgdwl jwp QL hwwn 2
35321130/504 wynndwitnutin 9L hwtn 20
35321130/505 wywnndwinubp qc hwtn 10
e B e ¢ < pu 500
undwpweneb wwunwnlbn
39221460/501 Ypaht' ubplupwpwyw QL hwun 300
39221460/502 Updht' ubplwpwpwlw 9 hwtn 200
39221460/503 Ypapu' ubplwpwpwljwl q< hwin 200
39221460/504 dpéht’ ubplwpwpwlw Q<L hwwn 3
39831277/502 ofiwnh wywnndwwn nhuwbuubnubp qC huwwn 100
39837000/501 guifuwid g Sl hwtn 500
44112140/505 |wihUwwn Qg pd 700
44112140/506 pwidhuwwn QL pd 200
44112480/503 phivinu £ fud 210
A4112550/528 spwnwn — 9Ennigdwu hwdwlwngbph - ol 300
uniehbn
44112550/520 | 2w angﬁ‘f:b“nh“’d‘““w”qb"h o< hwwn 100
44119550/530 opwwnwn — ghinnigdwu hwdwywpabph ac F 50
Upnuatin
s | T - PGl gy huin 200
Ujnuptip
R T e a e BES huwn 50
uinuetin
44112760/503 Gynuu danwnwlwu funqnywl qL Jdbwinp 300
44112760/504 GUntu dEnwnwlwl unqngwy Ge dgwnp 300
44112760/505 GUniU Ubnwnulwu funqnyuwy Q< dbwnp 2
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44
45

46
47

48
49
50
51
52
53
54
55
56
87
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81

44112760/506 Gyniu bl funnnyuly AL dbnp 200

44112760/507 Ui denwnuwlw funnnyuly e, dbunp 50

44112810/503 | Ybpwihlwlwi gandwlwn funnnyuy s hwn 500

44112810/504 | YopwdhYuywl gendwluniu funnnyuwy QL hwtn 1,000

44112810/505 | Ybpwdhlwlwu shpdwlyuwjniu funnnywy QL huwtn 1

44118300/502 phebin’ danwnwlwl Q< pu 500

44118300/503 phpbn dhnwnuwywl Q< pd 1,000

44118300/504 phpbn donwnuljwu < pu 23

44118300/505 phpbn donwnuywu QL pu 4

44163360/505 funnnywlubph quuwqwu wdpwuubp 9c hwwn 1,335

44192100/501 wnihyhuhpinppnh (pve) hpthny G< ud 50

44221140/507 nnutin q< pu 12

44221260/501 whiqupny ac fud 500

44311170/511 Enwygdwl wwpwgwubnp L hwwn 500

44311170/512 bnwlgiwl wwnwgwubp Q< hwn 500

44411100/501 Snpwlubip G hwwn 50

44411100/502 npwijubp 9< huwin 50

44411742/501 gniqupwtiwynuph dbfuwthqu GL hwtn 500

44411742/502 gniquipwlwynuph dbfuwuhqy Q< hwwn 500

44423220/501 SwiUnn wuwhGwulbp G hwn 2

44423220/502 dw)ynn wuwnhuwuubp 94 hwwn 2

44423570/501 wnn$hiutin (5-tp) 9c huwin 100

44511220/514 tnwnwinbuwy dbnph gnpdhpubip < hwn 2

44511220/515 wwnwinbuwly dbnph gnpdhputin Q< hwwn 300

44511220/516 inwpwinGuwl danph gnpdhpltip e hwtn 10

44511260/501 hnljw@nine & pd 50

44511260/502 hyweninp 9 pu 50

44511260/503 hnywpnine 9L pd 50

44511260/504 hnlywenue qc pu 30

44511260/505 haluwpnine QL pd 30

44511400/505 gnndhpubph dwubip qc hwn 5

44521100/503 quiiqwl Ynnubtptbp — thwlwubp qL hwun 500

44521100/504 quitwqu Ynnwbiputn — thwywiuubp %< huwn 50

44521100/505 quiiugqwu Ynnwbputn — thwlwuubp QgL hwn 50

44521190/508 pwlwihutp o< hwwn 2

44521190/509 pwlwihubp QL hwwn 2

44621150/506 gpuinwpignigns upuwubp GL hwin 50

44621150/507 opwinwpwgnighy wpuwubp S hwwn 50

Gpbuwljwl whwnypubp U gpuwubbjwluyhi UnipGR 2583.6
30197646/1 unjupwpning uu Lpyngpwd 642.8 16.8 10.8
i | TR SRR || hutn 50 960 48.0
dwuwwybuubn

3019211411 puwwp, Yuhph pwpahyh hwdwp uu hwwn 150 100 15.0
30192114/2 puwliwp, Yuhph pwpapyh hwdwp uu hwtn 38000 1 38.0
301921111 pwlwph pwpdhyubp uu hwun 300 30 9.0

30192121/501 gphs qunhywynp q< huitn 47.4 200 9.5

30192125/501 dwpytpubp < hwwn 70 40 2.8

30192160/501 ounphfultip G hwwn 137 70 9.6

30192700/501 qphuwyuwl whinyputp < hwwn 2000 60 120.0

30192700/502 gnbiuwlwu whnnyplbp She huwuwn 399 70 27.9

30192710/501 unuLdwdwnpn, gpuublywluihu qL hwin 100 200 20.0

30197120/501 ynbqudulp QL nnuh 174 2 0.3

30197230/501 prRWWWUWY a< huwin 40 30 1.2

soto7aysor | PPeul ”;‘)‘hub”“‘m“ el B huwn 8 20000 160.0

Wil
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30197234/501 pnRWWWUWY, Yngun Yuqdny QL hwn 460 25 1.5
30197234/502 pRRWWWUWY, Ynpwn Yuquny QL hwn 460 30 13.8
30197321/501 Guinhs, Uhuy— 20 plpeh hwdun q< hwtn 1008 100 100.8
30197331/501 nwyhs dGé Q< hwin 6000 100 600.0
30197511/501 utnyunwenunR Q< Yhngpwd 204 0.0
30197646/501 pnue’ A3 dnpdwinh Q<L Uhingnuwd 640 1800 1152.0
30199232/501 uwdwyh dpup, A4 d-wswiph g hwin 27.6 1000 276
30199400/501 unubdwwwnywd Ywd Yusniu gninp %L hwwn 750 70 T5]
30199400/502 unubdwuwinywd Yud Yusnit pnine Q< hwn 170 0.0
30199420/501 | pnine Upnwitbiph hudwp, unutdywdpny q< hwn 163.2 50 8.2
30199430/501 pnine Upnuiukph, npgwyutpny q< hwwn 1350 50 67.5
30234640/501 $itio hhonnnugyni, 16GB S hwn 9000 5 45.0
39224342/501 wnpwpyn, danwnjw S< huwin 750 10 78
39241210/501 Ulpwn, gpuiubUjwlwpl <L hwn 170 30 A
39241300/501 pninge Lunpnn uwpp Q< hwwn 10000 1 10.0
39263600/501 gpswinnud, gpuubljwywiu L hwuwn 700 10 7.0
39292530/501 pwunt’ dbinwnjw G hwn 120 25 3.0
30197622/501 pnine, A4 $npdwinh Q<L Ypingnwd 562 6000 3372
30197511/502 unjupwpning e hwwn 1300.5 204 265.3
30199400/503 unulawuwinywd Yud Yusniu pnine e hwn 311.76 170 33.0
142111171 dwupwgywd pwguwin uu fu.d 7333.33 30 220.0
LYwhnyph dwubp 14167.7
03411120/502 thuinuilintehg wuinpuUnYLG ac huwstn 2000 100 200.0
wnunwnnwp
19121700/505 wphbunwywu Ywah < p.d 4500 70 315.0
19421100/501 wphtunwlywt inbpunhih dwlnwpby 8L Upingnwd 1200 200 240.0
24911300/503 unupud’ htnnty Q< Yhingpwd 2254 87.5 197.2
24911500/503 unuhd (wkpngny) L huwn 1300 60 78.0
31221240/534 wununwlwynp ubndwyubp Q< hwin 33 3000 9.9
31221240/535 wnnunwyusdnp ubindwyutp QL hwwn 3.19995 40000 128.0
31221240/536 wnnunwlwynp ubindwlutp G< huwtn 1.9998 20000 40.0
31221240/537 wnnunwlwynp ubindwyutn Q< huwin 2.3 30000 69.0
31221240/538 winnunwlwynp ubndwyutip q< hwwn 9.396 1000 9.4
39132220/503 Yuituhsubip Q< huwin 240 100 24.0
39151220/551 Ywhnyph dwubn S huwwn 1449.9692 130 188.5
39151220/552 Ywhnyph dwubip Q< hwn 9500 15 142.5
39151220/553 Ywhnyph dwubp q< huwin 900 200 180.0
39151220/554 Ywhnyph dwubip QL hwitn 6.4 2000 12.8
39151220/555 Yuhnyph dwutip F< hwn 0.8 2000 1.6
39151220/556 Yuwhnyph duubip 9L hwuwn 100 100 10.0
39151220/557 Lwhnyph dwubp a< hutn 139.71429 1400 195.6
39151220/558 Ywhnyph dwubip qc hwn 150 60 9.0
39151220/559 Lwhnyph dwubp L hwwn 6 6000 36.0
39151220/560 Ywhnyph dwulip Q< huwn 60 60 3.6
39151220/561 Ywhnyph dwubp Q<L hwin 24 1000 24.0
39151220/562 Ywhnyph dwubp QL hwtn 1690.9091 220 372.0
39151220/563 Lwhnyph dwubip QL hwun 1700 60 102.0
39151220/564 Ywhnyph dwubp QL hwn 3700 60 222.0
39151220/565 Ywhnyph Jwubn ag huwtn 5600 170 952.0
39151220/566 lwhnyph dwubip QL hwtn 60 50 3.0
39151220/567 Ywhnyph dwubp 9L hwtn 799.96 200 160.0
39151220/568 Ywhnyph duubp 9L hwwn 30000 6 180.0
39151220/569 Yuhnyph dwubin QL huwtn 1.8 2000 36
39151220/570 Ywhnyph dwubp gL hwn 2584 8 204
39151220/571 Ywhnyph dwubp QL hwwn 424 100 42.4
39151220/572 whnyph dwubp QL hwwn 50 800 40.0
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44116200/502 PR, Sk s (R8T a< hwn 15504 27 418.6
hwuwnnuzjwdp
44116300/503 TORIPY Gt SR 9¢ huwin 25424 30 762.7
hwuwnnipwdp
44116300/504 i e ac hwwn 33480 220 7365.6
hwuinnipjwdp
r—— e ac P 4399.95 88 387.2
hwuwnnisiwdp
44192620/510 Uty dEnwnulywu QL Upngpwd 944 20 18.9
44211280/502 anntp 9 hwwn 1350 8 10.8
44221141/505 nnwu pnuwly i, hwtn 499.98857 350 175.0
44521120/508 WU thwluwlutp ac hwn 240 200 48.0
44521160/501 Snewlbn a< dbunp 333.33333 60 200
44521160/502 onRWuLEn Q< dbnp 184 300 55.2
44521160/503 SnpwLbn o< dbunn 300 2000 600.0
44521160/504 Snewubp Q< dbnp 419.4 200 83.9
44541200/501 onprwih dwubp 3L hwn 100 100 10.0
44521230/1 winwlubn uu huwn 400 20 8.0
3121143001 bty pwilu Juhwlwlutp uu huwtn 25000 20 500.0
31221240/543 wnnunwluwynp ubndwlup She hwin a6 3000 10.8
31221240/544 wunnunwlwynn ubndwlutp ac huwun 13.14 1000 13.14
39132220/504 Yuwfuhsbn a< huwwn 336 100 336
39151220/573 Ywhnyph dwubin qc huwin 1650 130 214.5
39151220/574 lwhnyph dwubn 9< huwin 18400 15 276
39151220/575 lywhnyph dwubip < hwun 800 100 80
39151220/576 Ywhnyph dwubm q< hwtn 12 3000 21.6
39151220/577 Ywhnyph dwubp < hwn 550 100 35
39151220/578 Ywhnyph dwubp QL hwwn 50 2000 100
39151220/579 Ywhnyph dwubip q< hwwn 180 1400 252
39151220/580 Ywhnyph dwubp qc huwin 216 250 54
39151220/581 Yywhnyph dwubip e huwtn 216 100 21.6
39151220/582 Ywhnyph dwubp Qg hwin 72 6000 43.2
39151220/583 Yuhnyph Jwubp ac huwin 72 150 10.8 .
39151220/584 Ywhnyph dwubp qL hwin 30 1000 30 =
39151220/585 Yywhnyph dwubin ac huwtn 72 100 7.2 3
39151220/586 Ywhnyph dwubp ac hwin 786 100 78.6
39151220/587 Lwhnyph dwubip Qe hwn 32000 6 192 b |
39151220/588 Ywhnyph dwubp Q< hwn 1.76 30000 52.8 -
39151220/589 Ywhnyph dwubip qc hwwn 2250 8 18
B g e AUM, 366x183ud swihannd 1600 e Y o = s
hwutnnigwdp
prmmm e B e e a< hustn 34920 250 8730
hwuwnigiwdp
44117200/507 bl & 9¢ hwitn 4453,3333 90 400.8
hwuwnnipwdp
44211280/503 dnnip Q< hwin 1425 8 1.4
44221141/506 nnwt pntwl QL hwwn 445.71429 350 156
44521120/509 nnwl thwywlbbp q< hun 300 300 90
2231120071 Ulwnutn uu hwitn 990000 1 990
0341112011 thuwynuilyniehg wuanpwuingwd uu hiaan 300 250 75 .
wnnwnplp 2
Upnphwiihs Uynyabip 2062.6 5
24321610/501 uwfuwpngu 9< Yhnanwd 5800 15 87.0 3
24321650/502 qlhgbphu S Yhingpuwd 1080 25 2.0 is
24321851/501 dhquiuynue / juppwdhn a< Yhingpwid 2000 15 30.0
24451140/502 wiunwhwuhs Unyatip Q< Ypingpwd 22000 1 220
24451140/503 wiuwnwhwuhs Unyetp G< Ypngpwd 150 0.0
24451140/503 wlutwhuwiths Lniakp 9< Yhingpwd 780 100 78.0
24451140/504 wunwhwlhs Unyeln P Yhingpwd 80 0.0
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[ 24451140/505 whunwhuwiuhs Unpkp ac Yhingpuwd 850 10 85
| 24451140/506 whunwhuslihs WniEbp ac Ynnapwd 29000 1 29.0
24451140/507 whunwhuwitips ujnuabip QL Yhingpwd 10 0.0
24451141/504 whutnwhwups htnny ujniplip QL (htnp 25 0.0
[ 24451141/504 wunwhwhy htnnd Wnuetin qc {hup 1800 25 45.0
24451141/505 whunwhwitihs hEnnty ynupln Q<L [pnp 1,000 0.0
24451141/506 whunwhwupg htnniy yyniphp GC (hwp 25 0.0
24451141/506 wfunwhwuhy htinniy ujnuelin e hwp 4900 15 73.5
24451141/507 wiunwhuwiths hbnniy uyniphin QL Ihwp 2500 10 25.0
24451141/508 wiunwhwuhs hEnniy ujniplip Q< thwp 80 0.0
24451141/508 wiunwhuwitps hnny ujnuabip QL (htnp 3780 40 151.2
24451141/509 wfuunwhwlihg hbnniy Uynyetn q< Ihup 2400 100 240.0
24451141/510 wiunwhwlhs hbnny unuplip QL (hup 40 0.0
24451141/510 whuwnwhwuhs htnndy ujnuplip Q<L (hwp 1800 20 36.0
24451141/51 wutnwhwths hbnnty ujnipbp qg thtnp 10 0.0
24451141/511 whutnwhwlhg hbnnly Wnetn QL (hunp 7300 10 73.0
24451141/513 wiunwhwlhs hanniy ujniplip QL {htnp 1 0.0
24931500/501 nbungb uwputiph p—wyhsubip gL huwin 30000 2 60.0
24931600/501 | nbunabt tlwnutnh Luuyniuwignighsn &< hww 15000 2 30.0
24961600/501 inbfulhyulwl uuhpan G Ypingpwd 10 0.0
33141160/502 ununagbi 250,0 YL hwwn 2,500 0.0
33141160/502 unungty 250,0 q< hwtn 170 1,000 170.0
33141213/504 pdolwlw Jugbihl QL Yhingpwd 1600 20 32.0
hwlwubiuhg (wiwnhubwunhl) -
21641/517 QL h 0 0.
336 / wiunuwhwhs Uhgnaln win 30,000 0
h —
33621641/517 wwubeh futnhubignhty ac hutn 1033 | 10,000 103.3
whunwhwuhs dhgngubin
hwlwthups {wunhutwunhl) -

621641/518 Q<L h i
Sy whinwhwiuhs dhenatbin T - o

hwlwubfuhg {wwnhutwywnhly) -

621641/51 S h 126 1 189.
33621641/518 ihunuhuiubs dhonautin win 00 5 9.0
33621641/519 husljwbfuh; (wlnhubunnty) = 3< huwn 1,500 0.0

whunwhwuhs dhengubin
hwlwubfuhs {(wuwnhubwinhly) -
3621641/520 Q< h 50 0.0
i = whutnwhwths dhongulin S
33631241/502 pinphbipuhnhth nnyR qL thuip 150 0.0
33631241/502 pinphbipupnhp inidnyR qc (hwnp 8400 50 420.0
Jwqubghnulp untbwn a06ad04,
4 i qcL 1 0.0
33691145/507 | 15-c00, b05xa05. dilaxD5, ¥04cc02 i
Jwpnpwwnn wqnwiynyatin
1421/517 QL 1500 5 V)
i {nbwgblnbn) hnni ipunp
[wpnpwwnnn wgnwlynuatn
3 1 1 L .0
3691421/518 (nbwgbuwntin hnnil e 3 0
|wpnpwnnn wqnujnuztbn
1422/51 G wd 7} 0.0
SRS (nhwgblnutin) thnoh Ywd apwunyutn ikl
[wpnpwwnnp wiqnubjnutp
3691422/519 qg napwd 25000 1 25.0
By (nbwagtuunutn) thnoh bwd gnwnuubn iinan
|[wpnpWnNN wqnwlyniptin
33691422/52 QL napwy 100000 1 100.0
SasasH (nbwgblnubn) thngh Ywd apwuniutn Hpipar
|wpnpwnnp wanwujnyzn
1422/521 aL J 600 1 0.6
33691422521 | | gbuuntion) thiigh Uwd anuwiunyun | UpLpams
Cwlntpawp b whlpnntraghts wpupwquwikp 5130.0
39511100/502 Ubpdwlubp qc hwn 3871 620 2400.0
39511120/502 wuynnuwihu uwhunwynbu B huwun 5000 360 1800.0
39516122/502 pwind, uhupbunhy o< huwin 132850 | 700.00 929.95
18231600/ uypwnbiputip uu hwn 8500 20 170.00
18211100/1 Yhuwyspwiplnt uu hwitn 25000 20 500.00
184217011 gnunhubp uu hwtn 1800 20 36.00
18421190/1 huwgntuwnh wwinjwl uu hwtn 3235 20 64.70
3581117011 hwdwaggbun Uy nwilwgy 16000 15 240.00
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[ 3581117002 hwiwgghuwn uu [nwljwqy 16000 1 16.00
18231600/1 uyhwnbpubip uu hwwn 7500 25 187.50
Spwhuynppughl bynyplip
09132100/501_| pbUghl, wptdhnu | %< mp | 380.00 | 4125.00 | 1,567.50
wiyj dwfuubp
032221101 wlwlwu uu g 1,300 22 2.86
0322212811 fulanp uu Yag 750 2 1.50
032221191 uwphug uu g 900 1.80
032221201 pniphus uu ba 900 155 1.35
03222100/1 PWLWU uu Ug 800 1.2 0.96
03222116/1 Yndh uu Ug 850 1 0.85
03222121/1 dwtnwnht uu La 900 1.5 1.35
03222129/1 nwua Uu g 1,800 1 1.80
03222136/ untn uu yg 1,300 0.5 0.65
15321000/ pmpiisip: UPETRECE uu hun 650 4 2.60
oqunwgnpdiwl puwlwl hnwe
1598150011 qnywgnighs pdwthpubp Uu (hwp 430 4 1.72
15981500/2 qnyuignighs pdwGhpubp uu [hwp 430 B 1.72
15931700/ ghuh, Yupdhp uu thinp 4,400 6 26.40
15931700/2 qhup, Yupdhp uu (hunp 1,800 2 3.60
24321390/1 wiynhny uu (hwp 4,400 2 8.80
331411181 wudknnghlubip uu hwwn 500 2 1.00
19642000/1 wnihbehiEUwihl wwpy, ultnwihu uu hwtn 200 " 2.20
33771400/1 blutiquidiu oqunuannaiul pres uu huwn 200 14 2.80
wpuwnnwup
el B s uu huwun 100 20 2.00
wpunwnpwup
e | OGN AR N uu hwtn 100 8 0.80
wpunwnnuup
15811100/ huwg uu g 220 6 132
15811100/2 hwg uu Lg 1,200 B:55 0.66
1554130011 pwnd wwuhp uu la 3,700 2 7.40
15541300/2 pwnd wwluhp Uu Ug 800 1 0.80
15541300/3 pwnd wwuhp uu Ua 1,350 3 4.05
15894200/1 wuwinpwunh uuntun uu hwin 900 1 0.90
15861300/1 unips, (usynn uu g 12,500 0.20 2,500
15831100/1 uwhuwy pwpuwn uu lg 550 1 0.55
1533118411 wwhwdnjugywd ghbjpntu Uu Ug 4,050 0.6 2.43
15131100/1 tinghlbnt — Udwbwinhy duwdebnp uu ua 4,433 15 6.65
15211100/1 alwu bhia Uu g 4200 25 10.50
15331490/1 dwphuwgywd Jupniug uUu g 1,208 13 1.60
15551600/1 Jwdniu uu ug 1,500 0.5 675
032211241 Jupniig Ul g 1,400 2.0 2.80
15331139/1 inthy uu g 3,600 15 5.40
032221181 Ypwpnu uu Ug 250 1.0 0.25
03221430/ ppnbinih uu g 3,300 0.5 1.65
15821500/1 rujwdpwphpubin uu g 420 48 20.16
15331178/1 wwhwsdnjwgywd pwugunpbinbl Uu Uag 1,418.1 0.55 0.78
Tunu3nhe3nkuLiuer 25308.0
50300000 |wunptbtwhwidwl b hwdwlpupgsuyfl Swnwnipyniiilnp 0.0
huwdwhwngswhu uwnpptph
50311120/502 wwhwwudwl - dEpwunpngdwt ohe nnwy 1 0.0
Swnuwinuanubin
50700000 | skbpbpnud plnuwluyjwd uwpplppypubinpnguwis U wwhuywidwb dwnwnipynibiep 1500.0
50751100/505 Jenbpuutinh bnulnpnauuwl - 9< Awd 1500000 ! 1500.0
wwhwwidwl dwnwinuginiubbp
60100000  |wifipnunphpugfit thnfuwnpuwdpgngbbph Swnuinyaymbibiip 16650.0
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771113001 wyp uwnpwynpnuiubph Jupawlwnypni uu nnuwd 171000 1 171.0
7711130072 | wy uwppwynpnwiutinh qupawuwiniend uu npwu 20000 4 80.0
- d ub
oo | P nwhnfuwanon wdnndspSuatinh | -y py ol 220000 i 220.0
Jundwluwnusiniu
nin—npwthnfuwnpnn wnndbpbuwutnh
60171100/505 quip&wywinuzniu’ ywpnpnh htin q< npwd 16650000 1 16650.0
Jdhwuhl
48951200/1 hwtpwht hpwabldwu hwdwywpglbin Ju npwd 990000 1 990
71900000 |jwpnpunpaphwlul dwnwynigynisbibip 0.0
71911100/503 jwpnpuunnphwlul Swnwjnigjniulp l QL l npwd 1 0.0
72200000 Spwqpuighty wupwhnddwb U funphpnusgfuljul dwnwyninibbbp
guugwht, hwdwgugujh ~ ubpphu
Swnwynnulwu Yuwjph (hunpwlbinh)
7221112411
/ husiwljuingsuht Spwanuiht uu npwd 300000 1 300.0 :
thwptpubnh dwldwl Swnwjnypjnitbn gi
75200000 huwbpughl Swnwyniyaynibibiph dunpignud 0.0 5
seapiEas, | TR e Vg A ac apwil i 0.0 g
Swnwnuz|niuubn 2
7934110011 gnyuwqnuw)ht Swnwjnipjniulitin uu npwd 152280 1 152.3
7934110072 gnywgnwihl dwnwjnya|niuliGn uu nnwd 333720 1 383.7
79341100/3 gnywqrwihl Swnwjnipjniutibp uu npwd 23150 1 232
79341100/ gnywqnuwihl dwnwjnuzjniuutip uu npwd 167230 1 167.2
79341100/5 gnyuigruwiht Swnwjnipjniulp uu nnwd 23150 1 232
79341100/6 anywgrwh dwnwjnijniuubp uu npwd 111240 1 m.2
79341100/7 gnywqriwht Swnwjnyejniilbip uu nnwd 152280 1 182:5
u U
7982116011 e uu e 42000 i 2.0
Swinwininiulibn
79821160/2 qpuihljutjub Ahquilin uu i 45000 1 45.0
Swnwinuginiuubin
7982120011 i wnipan Bl wpunnuuRn uu npwd 155520 1 155.5
nwwgniwt dwnwini@intu =3
g | VPSR | s 58320 : 58.3 i
nwwigniwl Swnwjnintu :
snmicin | MEOENMADIEN i i uu Anwd 416000 i 416.0
nwwgnuwl dwnwjnip|niu
eganons | “Senibansdimli peinniten 3 gy Apwd 38880 i 38.9
nuywignuwl Swnwjnignl
798212005501 | U wnhgpuhulsl wpununalph Q< npwd 1080000 i 1080.0
wnwwgndwl SwnwiniRint
sesmong | " raEmabbi o a< npuid 1209600 1 12096
nwygpiwl dwnwjnijniu
79821200503 | U wnjhanwhuljul wpinwapulph q< Awd 549600 1 549.6
ijugniw Swnwjnye|ntu
00500000 |wnph b punhnlitbph htp Guiuytfud gwnwnyambbbp 4800.0
90521320/505 P UruEnguIf i RO %< aowd | 4800000 1 4800.0
hwdwpntd, thnfuwnnnu = nsUswanud
i [wd wiywts Juyptpnd dwppdwl b uwl wpwlwt & hwpw
90600000 punupuhls ud guauuiljul quyptpnic CLpn puypwpuly puilihg 0.0
Swnwynipynibrbbp
90611100/502 | thnnngubiph dwppdwl Swnwyniniuubn S npwd 1 0.0
90900000 |dwppdwl L wwhfupwpwhhghbupl dwnwynipniitp .
90921100/1 whunwhwldul — dwuipnydubnt 9¢ i 960000 1 960.0
nsUswgiwl Swnwinyzniuutn
whunwhwbdwl — Jwlwpnydlbnh
1100/503 L, wd 1 0.0
SRR nsUswguwl dwnw)nuznliubn "
98300000 |qutwqulr dwnwympynibibibp 2358.0
66511250/1 qugh wwhndpugniul uu A 874500 1 8745
Swnuwnipniubn
98311120/503 [wgpwnubnh guhwannddul q< A 2358000 1 2358.0
Swnw)ni@inbubn

Ctpanuua 49



pd24wlywl uwppbph yEpwunpnodw —
504211001
wwhwwbdwl dwnwinusintuubn o e i A
55111300/501 wy| hintpwungwih Swnwnignluubn Q< nnwd 0.0
7995112011 s il L) sy e uu npwd 470000 470.0
dwnwnianiuubin
98391210/1 FuihiTREk g A Ty uu npwd 500000 500.0
Jwnwinuanlitin
651111001 fudtnt oph puwizfunud Uu npwid 30000000 30000.0
65211100/ qugh pwptunud uu npwd 45000000 45000.0
653111001 FlEYnpwlwtniypjwt pwpfunud uu nnwdy 55000000 55000.0
64211340/1 el e sl uu nnwd 960000 960.0
Swnwinipnuubin
b h dwl
50111170/1 s T L e uu Apwd 900000 900.0
Swnwinipntuubp
nubph, Wwinnthwtubph — hwpw
ssaqmon | UECM i st Apwd 350000 350.0
pwnuinphsubinh wbnwnnnuw
ubiph, hwl -h
Savan | RS sRORGGIRGe- HiERE | ) At 240000 240.0
pwnwnphsubph wnbnwnpnu
Ywqdwybpwnuejwu punhwuntp
64211230/501 G d 42 .
hbnwunuwihu quugh dwnwinyz|ntutip e - i s
55321100/501 | utunh wwinpwundwi swnwjniniuubp 9< npwy 1764000 1764.0
7135154001 ARSI AU A uu npwd 302380 302.4
Swnuwnuanuubin
71351540/501 AN Sodgiipg L 9< A 540000 540.0
Sdwnwinuyajniuubp
73432100/1 Ljnipwlywl wpdtpubph quwhwunnid uu npwy 500000 500.0
wnnneuwwwhwywu — wuynwugniz|wu
7131142011 uu wid 82483 82.5
htin Lwwdwd Swnwinuzintibn W
2pgwlw dhgwdwynh wiinwgnie)wl
907113001 uu 450000 450.0
b hulnnnipw dwnwnunuubn s
79341100/502 gnywqnuwihu dwnwjnipniuubp G< il 1370520 1370.5
79341100/503 gnyuwgnwihu dwnuwjniypniuubp Qe npwd 4937760 4937.8
4526118071 s et uu npwd 160000 160.0
Swnuwinuyantubp
G u b Gpwt duwit
sy | T Tereiei enghapdmatengien | gy npwd 50000 50.0
Swnwinusintuubp
853112101 funphpnwnynug)wt dwnwjninlulan uu npwd 17000 1z
3491123011 Wyt SRR VAR uu SR 24000 24.0
wwhbunwdwutin
wsicing | empRauk GuRouRiR e uu _— 6000 6.0
wwhbunwdwubp
sagmoseys | POMRARIHIE S AMINEDG uu npwd 48000 48.0
wwhbuwnmwdwubp
el L uu i 410000 410.0
wwhbunwdwubp
79211150/501 wnihinnpwlwt dwnwjnygjniutp Q< npwd 2799600 2799.6
981111401 L i i s uu npwd 433770 433.77
dwnwjnyznuuubin
ninnpdwl — Yunwywpdwu
519111001 hwidwwpgbiph nbnunpdwu uu npwd 970000 970.00
Swnwjnug|niubp
5053114071 thnp&wpluuntz|wu dwnwjnipjniulibn uu npwd 500000 500.00
77111300/501 | wy| uwppwynpnuwiubph qupdwywnyaniu < nnwid 0.00
90511150/501 wnpeh thnfuwnpdwl Swnwjnysniubbp Q< npwd 0.00
uchusuuLeLer
45611300/504 wiL 26Uk, ghtnuniiLinn pU npwd | 80997395 80997.4
hhduwunpngntd
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wj| 2Guptnh, 2hunugjniutiiph
456 50 < 0] 0.0
r i hhduwunpnantd o
e R SR g npwd 6300000 6300.0
quwhwunnu
45111420/1 hnnwjhu wpuwinwuplbp uu npwd 1000000 1000.0
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